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1)

2)

3)

_ Negati King is o full
As per the report of “Children in India 2012- A stalistical appraisal”, which of the
following states has the highest number of crimes against children?

(A} Maharashua (B) Uuar Pradesh

(C) Tamilnadu (D) Andbra Pradesh
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The Central Hindu School at Banaras which served as a nucleus of the Banaras
Hindu University was established by

(A) Madan Mohan Malaviya

(B) Annic Besant

(C) Bhagawan Das

(D) Swami Shardhananda .
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Identify the correct sequence in which the following Deputy Prime Ministers were
appointed in India?

(1) Sardar Vatlabhbhai Patel (2) Ch. Dewvilal

(3) Ch. Charan Singh (4) Morarji Desai

83 800 ar08 &0 Prrd iofon DOIRDIS I G5 SHO0 SENTH0E?
(1) @b dgaean Ml (2) Ch. o8

{3) Ch. g Rob (4) oo Baraw
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(A) 1,342 (B) 1423 () 4.1,2.3 (D) 14,32
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N i rhing is 5% Iy
‘ 74)) Consider the following statements:
[P

The most effective contribution made by Dadabhai Naoroji to the cause of [ndian
National Movement wag that he

1. exposed the economic exploitation of India by the British
2. interpreted the ancient Indian wexts and restored the self-confidence of Indians
3. stressed the need of eradication of all the social evils before any thing clse.
Which of the statements given above isfare correct?
(A) Lonly
(B) 1and3 only
(C) 2and 3 only
(D) 1,2and3
08 300 DiSeTRoi Dotdodosin.
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5)

6)

7

Negative marking is there, answer carefully
Match List - I with List - II and choose the correct answer [rom the codes given
below.
List-1 List -]
a)  Chagla Commission [.  Strengthening of all
India Service
b}  Administrative Reforms Commission 2. Ministerial res ronsibility

¢)  Corc Commission 3. Training of 1P
d)  Sarkaria Comnission 4. Tenctional ficlds of IAS
meen - | O maen - [ 8 asdb Seous Bancvmg Shdmiod,
= - | e 1]
a)  oeom o . sdegdandon
odfbde Saido
b; Do Bom0n S0RDS 2. 008 Ronod v B
£) 1% DS 3. IPS wasn
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The Nirmal Bharat Yatra “1o make the country open-defecation-free and to ensure
proper sanitation in ruraf India™ began from Disirict,

(A) Bijapur (B) Wardha (C) Gulbarga (D) Kolhapur
BT, phaors 2ot g S900e o B DO VB0 - LERQ PO
o DB ace &) 08 et GRaD D dep Aol PEotoTED ?

(A) Eazpo (B) = (©_txm (D) S
Tdrd‘bx_;r_&*J'I;L.:JJHU‘)U:"#FLhd?{JUJ.Jrfuﬂu;lhLE:J‘F—'Jﬁ'.
PTG ) LE sos (B sfl(A)
Winich of the following are the Indian Councils Acts?
(1) 1909 {2} 1861 (3 1813 (4) 1892
(A} 1and4 only (B) 2and4 only
{C) 2,3 and 4 only (D) 1,2and 4 only
86 800 el B i B3 Senen?
()" 1909 Q) 1861 (3) 1813 4) 1892
(A) | oo 4 snsh (B) 2 svootn 4 dmdd
(€) 2,3 moat 4 siegsh (D) 1,2 soain 4 axad
?L{?érflwfdilc}_fﬁgf_ibn
1892 4 JE T 1861 2 1909 .l
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8)

9)

10)

11)

Newative marking -
[ the context of revenue administration of the British in India, wha of the following
is well-known for his association with Ryotward settlement and its implémentation?

{A) Jomarhan Duncan {B) R.N Bird.

{C} Sir Charles Napier {D)y Thomas Munro

il odlinane duidd’ BN DONSER LRroom BEn.S S0 SO T Siiend)
ROEON0ON BB T

(A) #iRgd godd (B) RM. =5

(C) %6 oogh oo (D) ool dngt

WSS 2 et seF Lo VR LS 31 P 4 L 10
AL (D) j_éuJ,g/ () beoffnsl () ('}fjg.;zf {(A)

Which of the following Articles of the [ndian Constitution emnpowers Parlizment o
create an All India Service?

(A) Article 300 (B) Anicle312 (C) Article 320 (D) Article410
370 oven,0rfof® S EOSER0 B0 1RSE HORD oD epmog duifiod® noos?
{(A) 300 & epcmo (BY 312 & m2ddno
(C) 3205 spucno (D) 410 s eo¥8m0

Sl S 3T R T f o P £ TS L s
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Name the English officer who obtained Madras on lease in 1639 from the ruler of
Chandragiri?

(A) Franeis Day (B) Sir John Child

(C) Su Thomas Roe (D) Sir Gearge Oxenden

1639 &° Sogde Moterbod dxgwd beth Sosg sofod enmo ST

(A) aeapd (B) #8834

{C) 28 ol &7 (D) 25 g =253

_ ?ng’b4‘+fJU;L;I.y\szk/ruimﬁdflub,u: 1639
vH e, © G, © 0 Bedh, B N0 (A
Who is the present Managing Director of IMF (Intemational Monctary Fund)?

{A) Dominigue Strauss Khan (B) Xm Yong Kin
{C) Christine Lagarde (D) Robert Zocllick
sod@Bad 3590 (IMF) pigs Sz 3048 o8 7

(A) BoE, T m B) a&:omamu
(€} ¥Aermf {D) ool Habgh

Sl I wrr & OMBEEEr ST A
Loeg, © 34l © ALL XKLt (a)
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12)

13)

14)

15)

Which of the following dramas was written by Sriharsha?

(A) Kundamala (B) Priyadarshika

(C) Karpuramanjan (D) Malati-Madhava

$Erci 8 36 SD0S0AS Kobdo ST

(A) wodsre (B) battos

(C) sondsomo (D) Smod-Sngs
?M.lf}ﬂ-”/j.-!}ﬁdf(ﬁdib})

koGt Dy Gk (© ity (B) b (A)
Who is appointed as the Chief Executive Officer of the Gorkhaland Territorial
Administration?

(A) Bimal Gurung {B) Roshan Giri

(C) Ramesh Allay (D) Binay Tamang
riRcanel 88 O 507 H08), B8ORS GHBER S5 DOBEBGD 7
(A) 258 s (B) &%5% 8o

(C) shhed (D) 50D s5nos

e BN e o ATE SR L,
e @ LIK, o P ® LSS w
Whal is the tallest residential buildings of the world?

(A} 23 Marina (B) Princess Tower

(C) Elite Residence (D) The Marina Torch

BHoTsodh Bep ©8,08 MBS Howd PR S07

{A) 23 soorm (B) bId 65

(C) opasTNAY (D) &%bw )
“'{_Uj.lr.:ulﬁ;:%};(_(sfr_gJyl

BAASY () Slak © sy () kAD (A)

Under Akbar, Mir Bakshi was required to look afler
(A) Incharge of the imperial mint (B) Military affairs
(C) Minister - in - charge of Treasury (D) The land revenue system

645 oSt 'DRleg’ D engigen DEDOTID ?
(A) cgsed SonoHovs Lodawe (B) mebd 55050
C) mesin m08 (D) eny08 o, 559
SE N L 2L G et il
el @) (B) K fFleF
(g id (D) KIS TR (o)
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16)

17)

as

18)

19)

20)

9314

N:Eﬂ"] ¢ marking is lh![: answer Ea[ﬂ{"“ﬂ'
Wha is the Chainnan of the committec looked in to issucs relating to the deregulation
of the sugar scctor?

(A) Dr. C. Ranga Rajan (B) Montek Singh Ahluwakia
(C) Dr. Narendra Jadhay (D} None of these
D0 S0e0 Bormg 8500 TS Sahup 08 Honofeis HiaiRed So8Do0w B 2,5 o ?

Loh e Lot @) Fresnif © ahE B, By LE.u 8 (A

When is MNational Panchayati Raj day observed?
(A) 24"March (B) 24%October  (C) 24%August (D) 24*Apni!
A DoRODS 0 df LRy Ty St ?
(A) a»g, 24 ( o565, 24 (€) wip, 24 (D) Qo 24
T Pyl ATl g Py
VP LT ) /124 (© <f2a By FA% (A
The first *Women's Kabaddi World Cup* competitions were held al
(A) Pama {B) Jaipur
{C) Chennai {D} Chandigach
B030048 'BooS Wwinw dof 83" S g somon?
(A) awem (B) Zps
© (D) colzub .
aé“ Mgl e UG e e
#Ji5 Dy Jex (O B 2 (A
Who 13 the Present Prime Minis?cr of Pakistan? .
{A) Yousaf Raza Gillani {B) Raja Pervaiz Ashraf
(C) Muhammad Mian Soomre (D} Shankat Aziz
RS 34 HRS Dewsiog Se? /
(A) el o fend (B) owsddeqd
C E0ERE & DO dodm D) pgssdid
© iz ® ‘.'q_:ufr‘"l(huzr.ﬁuffl_-
2P D arued (© D st (B) Wy (A
Governor General of Bengal became the Gow.-c{-n;:’ri}‘::nch of Indlfja' th‘mug
{A) Pigs India Act, 1784 {B) Government of India Act, 1853
(C) Charter Act, 1833 (D) Government of India Act, 1858
D D0 o Do b S0, 2RoBdy (568 2508 eain G 7
(A) Defacdatm sko, 17 (B) oo ob aodata Sigo, 1853
(C) g 540, 1833 (D) risegooes ab sodots S4o, 1858
NUCIE TN - SIS VN (S AN NP I 4
1853 £ 2T el (my 17ganfnin gt (A
1858ttt @ 133 (©
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21)

22)

23)

24)

2%)

Negative marking is there, apswer carefully
The book titled “Udyamam ncla baludu” is authored by
(A) K.G SatyaMurthy (B) VaravaraRao (C) Shiva Reddy (D) Gaddar
“aa0 Bo teessd” PRPY D SDowth?
(A) 33 285m0 (B) s6s5009 (€) 4snT% (D) g
Spuf e L LU o

4 (D) diie (© oty (B) or RS (A
Who of the fellowing was shot by Taliban gunmen on 9 Oclober, 20127
(A) Mahanaz (B} Malala yousafiai
(C) Mehjibin (D) Nausheen

Bon 06® 9 85550 2012 & BabaS 535hS So Bppgo 8D T
(A) Rogrand (B) meswotmdfp  (C) anmes (D) FHS
WSy Ll kS Lo w12 0k S it
) O Fae ©  drmtds B e (A)
Krishnadevaraya defeated which Bijapur Sullan with the suppont of Porugucse
soldiers?

(A) Ismael Adil Shah (B) Ahmed Shah
{C) Nadir Shah (D) Mohammad Shah
800 oD B dowipd e fuisooer HAAD oD HEEabes! SR
(A) aovdseSdp (B) &smxpSap
(C) ol (D) a5 ap
?u'd:Jc_.ch,fdd';a_;.r,lp /fu&i-;‘ig‘_/u-'(_)_'ibu
Wt D) st (©) W B e

Which of the following State Governments first lime introduced a policy lo pay
compensation to housewives, who are mothers?
(A) Gea (B) Kenla (C) West Bengal (D) Rajasthan

2o M &m@moﬁoangmmwm rhirmoot S5 Goio] Bpo:d

Doean piemnion?
(A) s (B) do¢ (C) sgmodomd (D) oo
'i'l-fuﬂdl’q..),hrfu:l.wtI}UJ,{,;.,.-(_.._/;‘JLJU/JQJVJ;
gty @ JEdP (© 1L ® i (@A)
The first Paleolithic tool in India was discovered at
{A) Bhimbetka (B) Pallavaram {C) Nevasa (D) Kupgal
ROSSH B0 F05H3 Senaiboriy DOEEY BEXTY 0O
(A) Sfodes, (B) »gage (C) R (D) =%d
-4:5;&5;;()(4;;.‘.,,-,:;;1&};ufurm;».
JI o) LI (©) Farg  (B) rooat
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26)

27

28)

Negativ King is 1} arefull
Afler Mahavira's death, who among the following became the spirtual lcader of
Jainisra?

(A) Gautama Indrabhuti (B) Gosala
{C) Sudharman (D) Jambuswami
SREADOHD DORSoT0, BSoeDdd Boe b E HH) S0NS TIHDT
(A) &8®m0gems  (B) 6 ©) 35S (D) somsdm
T U i g & = ol
Girsx @ S (© sl @ duad

The author of ‘A nation in the making’ is

(A) Mahatma Gandhi (B) Dadabha Naoraji
(C) Aurobindo Ghosh {D) S.N. Banerjea
‘D 35S 2% 0 HBoK’ HRY Sisoas HHT

e
(A) odssen, reof (B) cropeman S6ta
(C) wdoosi 3mh (D) S.N. 8apgat»

tEy i £ St et
Jagill @ Jhsd © duidun @ Say Ay

The Rowlatt Act aimed al

(A) bnposition of restrictions of freedom of the press

{B) compulsory economic support to war efforts

(C) suppression of the Khilafat Movement

(D) imprisonment without trial and summary procedures for trial

FolS Sigo aboth, o
(A) DoEr By soger DROSdo
(B) aoes aleants Afogion sox Sineso

(C) Pers dg g endIando /
(D) omie Bhom DYERHOEEC OO HEREND DR Horosdo

:.us‘("lrn.bgl..')u_

Ginadlundl Sue ®  USAaL S @A)

S SR o D) (L2 ©
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29)

30)

31)

Match the following items of List - T with List - [l by chaesing the correet code,
List-] Lisl -1}
1. Jayaprakash Narayan a)  Trusteeship
2. Gandhi b)  Social Justice
3. DrBR Ambedkar ¢)  Radical [Tumanizim
4. NLN. Ray d} Total Revolmion
& el ecasaid |1 & sddefd woased® agtogod. BIivdm pdond S50
sk,
| &5 g Haad
I eobgeed ancermad a) g dd sy
2. o | b)  dedmed pealo
3. wasd sodeBa ¢) AmASl duddemnso
4. o obd mab o d) Roapg ogso
(sl 28 L kL SIS L adin b et e 3 T
Loy Ll
o a Jurtrze.
sIundy b it 2
=)L b i j_,:_.fu?d;-fl',' 3
1 2 3 4 ;‘hﬂ'u}; d legfiifl 4
(A) a d ¢ b
(B) c b d a
(9] d a b ¢
(D) b ¢ a d
Which of the following is ¢alled the mother of Parliaments?
(A) The Indian Parliament (B} The Brtish Parliament
(C) The UK. Conpress (P} The Swiss Federal Asscmbly
oo el dit ' Bagiinions oug, 4" 00 woen©?
(A} emci Seridoe] (BY 240} Safdscel
(C) US. seoii (D) &5 pudd mbod

?H.Irr".s.iéli&\..”z.&"..’_{gﬂd_'ibu
Fildzr @ AN © edale @medadeosn w

Far which of the loflowing countries, Mr Hugo Chavez was elecied as President for

third time?

(AY Argentina {B} Colombta (C) Venezueln (D) Brazil
Bof spil 3 Smapd maof)fcsé.{ Fandas w0 ad i i jroin )Y
(A) #gudos (3) Seczots (C) TRwen (D) zeo
inFec e F gt n B8 S i
Jite (D) b 1 (O A m Esr ()
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32)

33)

33)

35)

36)

Which amendment of the Constitution of India limits the number of Ministers?
haztstcd OmE m.}*ﬁa RESs S1oe RO SaiD Dhooon 7

(A) 37 (B) e TJJ;/"LCLEH:;I_']J(;::)L(LD;}J’?E.ﬂt;r:”v
73 (D) SO (G o 184 (n) ST ()

The propesed “National Muscum of Indian Cinema™ wenld be established in

(A} Delhi (B) Chennai (C) Pune (D) Mumbai

$0500 SRS Sanaato & 2cBaHI VR WG oo ?

A B) < C 3}

@ & ® S Jf-(szf'?jlf"u?c&h)’—'%f"“n‘:‘-’

F > Ly Sk @ &

The concept of “Partyless Democracy™ were associated with

(A) Jawaharlal Nehru (B) Jayaprakash Narayan

(C) Mabatma Gandhi (D} Vinoba Bhave

“DGIang Hanle o 05 288D SB08 HBOPLD0L T

(A) asEnboed 3irn (B) =abdped mowond

(C) avdsos, rod (D) o erand

"LJ(:_.L/’A!‘J-""-:(JA"-G'U'._/:" "

could (DY ey (O Jurdvee B L 2dugir (A
Which of the following is won by Saina Nehwal recently?

{A) England Championship {B) Asia Championship
(Cy Dunmark Open Super series (D) Japan Open scries
200 06 P a8 aullse BepSrn BOxS?

(A) =oril wrobabShd (B) dhatm robADLELD
(C) a5, &b anod Lih (D) zdad &2 BED

-@*WL})}U;LJLLJ'J:"WLFJJ'GU
LIy D) 2agrdgrd Il (© Ao @) LTS a)
The treaty of Bassein (1302) was signed between
(A) The Yinglish and Tipusultan
(B) The English and Holkar
(Cy The English and Peshwa Baji Rao 11
(D) The English and Gaikwad.
ehon 20f (1802) astses g, zodon?
(A) =0izn 08 50010 SoRRSD
(B)  mofdn smod dooato oS0
() mﬂ:‘w 08 ook Hin, andoe 1

(D) =cfidp ol moah el ?mnuyu&uﬂamwww‘-
Aoz 1 @ Wbl 0l S (A
38 ST (D) I} 5;;J;g:,‘:=,,|u,g,f- e
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37

38)

Negative marking ig (h wer gaichully
[n which of the following ancient literary works a separate scetion of painfing s
found?

{A) Panchasiddantika (B) Panchatanira
(C)  Wishnu dharmoltara purana (D) Natya shasira
O3 Sof B ks fopsed® Dndlyeio e LK Bewdom don?
(A) sorcmnas (B) snstion
{C) maedigg oo (D) oo
W VAR T NN SRR DA
7 & (B (el (A)
B2t (D) Froir poty (©

Maich List - I with List - 11 and choose the correat answer from the codes piven
below,

List-1 List-1l
a} Tormation of 3P I. I990
Uy  Acceptance of Mandal 2 1976

Comunission Report by
the Government
¢)  lomnation of the First 3 1980
Communist Party Governmenlt
in an Indian State

dy  Passage of 42 Constitutional 4. 1957
Amendment
wongs - | 0 asatese - [T 67 and il H5ef0o0i DaREen] Dol
amrins - | e - |
) SED e 1. 1990
b) oo mneal panet 2. 1976
Tk mEmDoodo
€)  andalAont Bakidnced Jon 3.0 1980
iyt o B, Depe
d) 42 5 o] i Boso 4. 1957
KBS 128 L SIS b2 b e f Vo
[} FY ] Teri
1990 1 vl a
a b ¢ d i} e Ad'd
(A) 2 03 1 49 2 deng e b
a .
%2; 4 ‘: 3 é 1980 3 c/t‘(j;lv...'-).e/‘z'c_..,/wn:-'l_./ <
O 3 ! 4 2 957 EILaLams  d
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39)

40)

41)

Negative markine is there, answer gnrelwity
Pindakara under the Mauryan rulers wis a lax
{(A) On labaur (B} On irrigation
(C) Onnon-agricultural produce (D) Collected joimly from a village
LomE0' 8850 HPGLY Ded’ DOoEndA & DT
{A) =of (B) faiindocio
(C) &,anabed (D) predodienoo -ix}{;‘an}\:l.":;l—"‘ i
vy kzuj,ﬁuun‘u" S
LT @) qurisy (@
L/ Urs S eabrr (D) e i ()
World press, freedom day/idsjubscrvcd on ¢l ais
{(A) S*May (B) 7 May {C)y 9" May (D) 39 Alay
gidars B LR OGN DG BdbiHsd?

(a) .5 (B) &7 (€ .o (D) o3
Pem bl AT 20 e 717 Uit

&3 o 9 (€ 7 m &5
The first Nehru cabinet of foarteen |m.1uded five non-conpress men and thereby
Nehru's Congress Goverment virtually became a broad based National Goverument
in Independent India. Who were those five non-congress men?
{A) B.C.Ray, Govind Ballabh Pant, 1.B. Kripalani, C. Rajagopala Chari and Abdul
Kalain Azad.
(B) B.R. Ambedkar, Shyama Prasad Mukherjee, John Mathai, C.H.Bhabha and
Shanmukhan Chetty.
{C) B.G Kher, Krishna Menon, N.G Ranga, P.C. Joshi and Jayaprakash Narayan.
(D) Narendra Dev, Ajay Ghosh, P. Sundarayya, Ravi Narayana Reddy and C.D,
Deshmukh.
Rima dng, B8 I8 €10 14 oo Bh® mefitdim dodibo Snd 1ot
mdéud‘hu ok, 2000 L s dmgom&amméoﬁms‘,wm e
2D m’i‘bédxn e ?
(A)aB.C. 5 ﬁ’*.bo&aim!a’wé, I B. gprem0, C. oo 5520epirp, soohy sad fow swmd.
{B) B.R. o835, o 5 sond, S swsow, CH. axen oot fm: w034
(C) B.G 85, g5n=sS, N.G dom, PC. ﬁ‘ha&mﬁn&aﬁ.rw{mﬁd
{D) #Cogds, w2oh Hxk, P dvosdaty,, MWWMCD R
u’._/f"u)'d‘uw;.o-ml iz‘ﬂf u’,—iur»sum_r‘u’d’,m,,.rfu’,,e

] -iufuu’,rsgﬁf"b’,-}

WL $re VR IS e cxg st S s (A
EF P uubi . §eoe EF 8t S T4 ®)
ol g zig-d Ol e S A GG ©
S8 G FItGase Loim o o FF gt i (D)
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42) Who of the following Presidents of India was associated with the Trade Union

Movement in India?

(A) VV. Giri (B) N. Sanjiva Reddy
(C) Zakir Hussam (D) K.R Narayanan
500 OB* 3 2nesss g G ABROGDS SC1Fm8S DoDoo S dodnts ?
(A) 20.8p (B) N.:ods 34

(C) nds dniys (D) KR arceapad

Ti:—{u."_yﬂuh:?r‘utté)fﬁ,za"-t.&‘é.f;ﬂd_’ibu
It T L D N St S8 4

43) The term Scheduled Caste was coined by

(A) Simon Commission (B) Gandhiji
(C) B.R. Ambedkar (D) Government of India Act 1935
gy eme’ & HOMY AV B BOSAHO Sreds?
(A) DS goRas (B) mobd
(C) BR. eoiss (D) sutss pobaysasn, 1935
(ITV BV RS (T 41
&Ll @ HAr W
1986 L o1y (D) Serid -
44) The issuc of electoral reforms was addressed by
1. Tarkunde Committee 2. Goswami Commiitee ¢
3. Santhapam Commiftee 4. Sachar Commuttee
Find the suitable answers from the given below
(A) 1and2only (B) 1and3 only
(C) 1,2 and 4 only (D) 3 and 4 only
Qe HoRHiee eom D S thoooen?
I weied sond 2 Giingosodd 3 domiosmdd. 2ol sl
800 43 08 H602S SERGHRY KRET0,
(A) | doots 2 sred (B) 1 soam 3 snad
(©) 1,2 Doat 4 sag (D) 3 oot 4 spad
(__S‘ :"u?ug% d{dlrf 2
FLoa .-,
-é;ﬁ;ﬁ.gﬁfugxddjbaﬁ

43I (DY 4l 2 (©) Ml By b A
P e
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48) Which of the following are the federal features of the Indian Counstitution?
!, Rigid Constitution 2. Bicameral Legislature
3. Office of CAG 4. Collective responsibility
82 800 RG® 2B 8 cRon oH0HD TEPR), emen?
L gos osmodam 2. By RAGLs DR
3 b dug,soneonio 4. Ay G

?L);I'.-.-Elr';JUJC.)-".J;’u)_f(_ﬁdiﬁrH
Uk 3S B 4 }":d?:q:‘fltt):)/.s st digns 2 PP L SN

(A) 1,22nd3 (B} land4 (C) 1,23andd (D) land2
46) What is the position of India in receatly released Global Hunger Index Report 20127
(A) 56 (B)y 61 (C) 62+ (D) 65%
2o DECPS flad oS 2088 - 7012 & edeo oF dadedt aco?
(A) 563 (B) 61 (C) 623 D) 655
IR NS ST TN
165 (D) a62 (O W6l (B) 256 (A)
47) The First English Evening Daily Newspaper from Madras was
{A) The Madras Mail (B) The Madras Chrenicle
{Cy The Madras Herald (D) The Madras Standard
S 3908 Denisdis Al pobome Bof HSHES
(A) o &b dood (B) o gh @Rdd
(C) &b inong (D) & ageb ipodf

?WUI‘JPP,PGL}';AL&;’.—_.,-—-Uf;i.nél.ﬁr_ulu
sk sl (O Sawads (O S Sl By Fuiads @)

48) Which of the following Committees recommended “Block Level Planning™?

(A} GVK. Rac Commillee (B) L.N. Singhvi Committee
(C) K Santhanam Committee (D) Dantwala Commitiee
“2n3 €36 00l (139 fac Praws) & & Spud by Shon?
(A) GVK. ooz g0 (B) L.N. %ok, o
(C) K. domdo good (D) Sodmer Sgodd
tL S g B A
FoF o d ® Fl gnud @
Fuzr @ Fre-L ©
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49)

50)

52)

53)

- S ere y
Who termed the dominion of Sultan Muhammad Tughlag as ‘Hind and 5id"?
(A) Tbn Battuta (B) Ziyauddin Barani
{(C) Yaha-bin Abmad Sirhindi (D) Abdul Malik Isami
Aoend dbin,b BoffE ;e d) Troth ooty Doh €D 253 HHmE?
(A) =8 ot (B) 201radd 0od
(C) oBiral 5 edn,f 50 (D) onydaxnoh ol
i S T prlﬁv"f._)L'Jup)
degang IR (A)
gl ) thffw& ()
Which Couniry's Vice-President was sentenced to death recently?
(A) Kuwait (B) Irag Q) Syria (D)} Yemen
D B0 clwg, e84 wdsa sy 8poclon?
(A) s (B) mos8 (C)  boatn (D) cbaS
WL F ity fur st L B Uba e
vt (D) i (©) Jis (B) =/ (A
Who is the Current Chief of “Central Reserve Police Force™ (CRPF)?
(A) Ranjit Kumar Das (B) U.K. Bansal
{C) Pranay Sahay (D) AP Singh
Dotd o, 2580 256 (CRPF) Hins H oo 7
(A) dos fusmb b (B) UK. od
(€) praD Hisad (D) AP %08
TMULIA/rJr”r'ﬁ(CRPF) J;i;f’du/;d/’ '
Fodet @ all JL L B et (@)
Nadir Shah's invasion of India oo place during the reign of
(A) Jahan Shah (B8) Muhammad Shah
(C} Famuk Khsiar (B} Alamgir [
ROSE0P moldp A1, 8¥He 250 Devnldd® 2oficn
(A) a2dmd i (B) seway,Sap (C) zponBandd (D) wtcfSIl
?E(L;:/}GJJJLL/,ULII;JJL'4C)\?1}";

n/:ab D) Al (© (B Lol (A)

As per the National Crime Records Durcan, which Indian state reported heighest
number of Snicides in the year 20117

{A) Tamilnadu (B) Kerala (C) West Bengal (D) Maharashira
il B0 ool o 65 0369 gmco, 201100865068 H 08 wrgod® 58,08 Jops
ed g e $ARG> wOIRADT

{A) satmo (B) 8s¢ (C) nado Bomd (D) oY
f;"._ﬂ.a.t-rl:&f:}up;_‘.,—'hﬂ-—'ﬁ fd'-ﬁu:zonhjv....?.ﬁuchﬁ,g /J“’
tEL (D) JEUA © v Sheke (&)
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54)

55)

56)

37)

Nepative markjng is there, angwer carefnlly
Who one of the following started one of the carliest centreg of revolutionary activity
outside India in England known as Indian Home Rule Society?

{A) Shyamji Krishna Varma (B) Bhikaj Cama

(C) Dadabhai Naoroji {D) Rashbihan Bose

BOCCE EeB DRI Grdd I’ HKis6? arcoirna Dende Bce oo i sed Sendeen

00 im0 ognt) O Sedogomedy?

(A) w08 fas, (B) r=aem

(C) ovorgmaw HeGia (D) cimine S50
S S p L B8 F p §B S 21V £ v s g 207 2 15
Vidsd s D) Eadiun (© WEES  (B) Lo S (A)

‘Bhagavad gita' is recemtly translated from sanskrit to which of the following
European languages by Anna Racinska?

(A) Laun (B) German {C) French (I} Polish
eitt, . adse TrissABL Dot M0 H08 § rdeis sseonn?
(A} 5 (B) 243 (C) goS (D) a0k
'.‘I.r:u.’ul_.JQuiufc—aﬁ'.l.}f“l?-_(or%“u’uh.,_)b
s o & © 2 (B) Gy W

Arrange the following Speakers of Lok Sabha Chronologically according to their

tenure by choosing the correct code,

1. Somnath Chatterjee 2. Balram Jakhar

3. Moanchar Joshi 4. PA. Sangma

REonsS B35 HReD & Bom FELEis s HOEMS Res Heo SO0ELod! Baxdod.

1. aﬁabmbébé_j 2. oochasB 3 SRS HFH 4 b o
,iﬁiﬁ ;V&]Jrz-kuo“:{f/xg'lwhfr’éé.Jd-’dibu

Jupd 2 dzsfer
t;f-.-_l_q 4 Srar 3
Codes:
(A) 1324 (B) 4,123 (C) 2,431 (D) 34,12
Who received the 2011 Dada Saheb Phalke Award?
(A) K. Balachandar (B) Somnitra Chanerjee
(C) Randhir Kapoor (D) Devanand

ZOIIéma-%docmmwe,@mdégi:wm?
{A) K. emososd (B) Remoy b (C) odbdsmB (D) doesich

YL bapdy b
g D)y Agi @ dazr ® s W
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58)

60)

61)

62)

The Central Admmnistrative Tribupal deals with

(A) Recruitment and all service matters (13) Recruitment matters
(Y  Promotion mratlers (1)) Disciplinary matiers
Bofom dedseam dolido {[Aod SED085 e D ¢ aan Al Solbiuon
(A) efmeliod froch oAt m.:’ﬂ:"l_u {B) oaralboe Daniea
(C) #3Anad Dz (D) gsas aiainey
Se /0SS T el 2P0
Cl"'f\_'a'v)hgl (B) &."r’i-.«\.xnh./:/ (A.)
Lrrdsay/t (D) Lrrdés ©
An autobiography titled “Beyond the lines™ is authored by —_
(A) P Sainath {B) Kuldip Nayar
{C) NI Akbar (D) Arun Shourie
Yaatnch @ 85 el I sdfodingi add a7
(A) P axal (B) ﬂ::-g{l [ Tsy !
{€) M =48 () =5 3o
‘Lp“.i_.u"’dl/_gh'l i ||UJ;L-1-
Sitosd O A ©  Frped @ Frdeld W

The Communist Party of India (Marxist) was eslablished in
a0, 07 3 (dmee, fo) 2 Ebudiodon’?

(A) 1960 (B} 196l (Cy 1962 (D) 1964
it e OIS T S
1964 (D) 1962 (Q) 191 (B) 1960 (A)

According to the Global Language Mowitor, which of the following is the top Glebal
FFashion Capital for 20117

(A) London (B) WNew york (Cy Paris (I3) LosAngeles
"tiled v EnDnd feado 2011 @ Sodgdost el ol fead S bos To7
{A) wodd | (B) wmmgfnly, (C) &=k (D) e &o3y
-’—Luufd':tu JJJ'u*r‘_-fﬁ/(zonJ LG RS
v ) S5 (O JSKE (B) ud (A
Who'is the winner of Asian Team Squash Chamipionship 2012 in wotman calegory?
(A) India {B) Pakistan (C) Hong kong (D) China
2012 ebail Ao B T eobabSRD 2012 dibvim Danro DEB w7
{A) spcadan (B) fodimdd (C) aromos (D) g
_t"’..\-d'u/uCLr’Qf/\_r’L’C'}L/jl flfl_,r"‘izmz
F (D) 178 1 To) gt m) e i (A)
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63)

64)

65)

66)

Negative marking js there, answer careinlly
Which of the following European Country is facing severe ageing problem?
(A) Austria (B) Poland (C) Germany  {D) Finland
Bon sl O o6tdddo SZibous Sahly pedid o DR T ol P
(A) opot» (B) o=icl () wgh (D) Bmpal
?‘L.Eifu?bleL".’:/’gﬁgvﬁ@fufufhﬁptjbu
Ho' g2 © Hy @) LT
In which of the following cities, a chowk is renamed as Bhagat Singh Chowk?
(A) Islamabad (B) Karachi (Cy Lahore (D) Rawalpindi
02 300 sTHP D WiG0d 2.8 <PEO £15hoh FEm L dnad?
(A) ansned (B) Soed (CMenintts (D) ospod
WWerrepd "Ly F et it 2SS LSt
S, O 4 (C) &/ @ ATrt (A)
Whom of the following has became the First Dalit Speaker of the Tamilnadu
Assemnbly?
(A) Taml Azhagon (B) Madheswaran
(C) Dhanapal {D) Murugumaran
80n o’ Dt Blodied sbogl Bugiucd sus Rebm oNSiacd?
(A) Bood wans (B) &ndAss
(C) casand (D) SExHSRES
(S(S9) PSS N 9 ~F 0% PP ] WSy S0
oA (D) Jier (© Goirs @ wfoide @A

Identify the corect chronological sequence of the following:
1. Round Tablec Conferences
2. Quit India Movement
3. Fommalion of Indian National Congress
4. Simon Commission
200 430 SB0NR meEing SRS wiigod.
. ol Swdtsindme \TT° 2. &S q0laiR &30
3. geoomBab 2odl e V¢ 4. S g 1947
Esaw 6 i s it

..E')‘_:JJ'J‘,’UPJP. 2 J}b’;{d;’ A
S AL 4 ro¥A A un 3
(A) 1,423 (B 2,3,4,1 €y 4,2, 1,3 (03/;,4‘ 1,2
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\'ﬁaﬂlh'! I.'I]il[li'll.lﬂ is ltlﬂl' answer f'l[ﬂ[l!“!

67) Swami Vivekananda value education and cultural centre is being conshucicd at
(A) Ahmedabad {B) Patna {C) Bareda (D) Belgaam
‘A BIS0sS ey Sa B woli dedd Bond’ odd oaclodson?

(A) sirmend (B) @nen (C) office (D) demo
-U’Lf/rulf /’J;AIJJ’FU&EJI)«'QMJV "
rée (D) s () 2B ALt (a)

68)

69)

Match the List - I with List - I and sclect the correct answer using the codes given
below:
Lisi =1 Lixl - 1T
737 Consnrurtonal Amendment Act 1. Dcmocrauc Decentralisation
74% Constitutional Amendment Act 2. Indian Diaspora
Balwantrai Mchia Commiittee 3. Municipal Councils
L. 3. Singhvi Committec 4.  Constilutional States to
Panchayat Raj
Ko §0 Sobd SR06 [ & D60 someei |1 & el eowsed sdasSad.

==

{8508 | E-Ft
a. 73 & cranodt HCm oo I gy $8oleta
b, 748 oo st (o 2. rdEddo diod Sod
Db mdomd
c. %mwmmﬁk\\ 3. swapd S
d. onfabd. bhodn, soodd = 4. Douwmaidivni om0 g
-{LFALJJ._.IPé‘LfoLJl—’IJJ/’L.udzr‘fuc'_ll hf,afr_.»,g
Mot Y
e ogant LIRS H7) A
Ll 2 SNV
HIFe 3 Forinat <
-Jl-’r'd.t;':l'bl/-r-clj'v 4 L?'fd:';_[‘-'l_ufl d
a b ¢ d
(A) p o S P |
(62)] 4 B3R 2
(© 3 5471 4
(D) INE &
Wha foundéd the University of Vikramasila?
(A) Mahipala {B) Dharmapala (C) Gopala (D) Devapala
DA D 003000 D Ao ?
(A) ilrdss (B} ot (€©) e (1)) Sadwends
JLJ)[_»‘:JU?UI;JTU";,E!
viigs D) il © Wil #: (B Jer @A)
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70)

71)

72)

73)

Negative markipe js th Answ fully
Who defended Pakistani terrorist Ajmal Kasab in the Supreme Court?
(A) Raju Ramachandran (B) Raikishore Das
(€C) GR. Rajagopalan (1) R Sadasivan
Aobos i Bl drierr mud S005 8953 o000 Dantme Sid?
(A) e ravaSogs (B) dBdE ol
(C) GR. ooafides (D) R wcaasd

WL s B Setadei e a it
Ubie Ty LS TE @ w8 wesl (A

Election Commission of India has signed an MOU recently {(Octaber, 2012) with
for cooperation in etection management.

LRO8 Mt 010 aelise (efsh, 2012) OGFe DO g dimewda SUHD Jeed 2ioso

D Rodgo Shon?
VLS ¥ S lP L S SIF 1L Q012 7D s o 21 5T S
(A) UNDP (8) UNESCO  (C) UNIBO (D) UNWIO

Who was the Secretary of the Forcign Department established by the Indian National
Congress in 19367

(A} Maulana Azad (B) Vallabiibhm Patel
(C) Jawaharlal Neliru (D) Ram Manohar L.ohia
1936 ¢ 3p08 wlad woffl Dk Sg pleror Danmnd s, ol ?
(A) &Perre aamlh (B) apaman D

(C) wsinbend inn (D) oot Piacie

CEWlU LS Eet by sin F5 &S o106
Lizrrn @ fdipnz © Sduds B STty (a)

Who had made the following statement?
“Bhagavapi khatria ahampi khatrio™ (Bhagawan (Buddha) was a Kshalriya [ 100
am a Kshatriya)

(A} DBimbisara (B) Ajatasatru {C) Prasenjil {D} Sisunaga
800 HENSG DS DBV T
5D AR wited pBoiin”, (Ao (2odth) EBannd F0 D Liabadd)
(A) Zosdaoidy (B) st (C) BHseam (D) sidamn
i ul it
“ F ST F Gt
i D) ey (© et @ dut @)
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74)

75)

76)

77)

Nepati rhing js th n
Who 15 the author of “Political Economy of Develepment in India™?
{AY Amarya Sen {B) Hazna Allavt
{C) Pranab Dardhan (D} Subipta Kavira)
* D35S 2epily uh Saeliaboel ol rodafe’ B SOoCedSd: T
(A) wasg Ad (B) mem wgd
(C) wesef g (D) o spoed
ML g ST
Bieer D) e (© $FE* B Lo oW
Tu which of the following Citics Asian Athletics Championships 2013 will be held?
(A) Delhi (B) Hyderabad (C) Chennai (D) Beugalum
DS 0P crodahS R 2013 D Sidod® R inoSutman?
(A) ah (B) powns ) =3, (D} Borfd:th
v piat U 20130 o 6P
A D dee © e (®) @
The word Annual Financial Statemnent is mentioned in which of the following Articles
of the Indian Constitution?
() Atticle 116 (B) Anicle265 (C) Amicle 112 (D) Article 266
208 oRR 006" D epEtee RO Bo% BELT o 380 $6%B8007
(A) =pece L6 {B) =g=de 263 (C) eptsnall2 (D) ersce26h

eV o F L F TS L 5er st 5t
6 F 1 o 12FS © 5. 5.7 @ 16T (A
Which uniform unit of measurement was introduced by Shivaji for the assessment
of land revenne?
(A) Gaz (B) Tapab (€} Acre (D) Kathi
g5 Scaing S0 St ot KIS DGRBS Bo Foinisn 207
(A) oZ (B) &« (C) od€do (D) =o
?géIJJ(IJE;U/‘L@IEZLLJJ‘sJQCJ
¢ o £ © ) VATV

78) When is Telugn Language day is celebrated?

(A) 1" November {B) 29" August (Cy 7" June (D} 12% July

aommw%maaq,mayM?
(A) #5008, 1 (B wesp, 20 (€) =87 (D) &, 17
tetbie Sy
Juzz @ gz (© Aw @ 2@
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79)

30)

81)

82)

Which of the contemporary historians was appointed as the chief gaz of Delhi by
Sullan Muhammad-hin-Tughlag?

(A) Zia-ud-din Baram (1) Shans-i-siraj Arif

{C) Ibn Baunah (M  Al-beruni

Ruerd ot el o 8 A ik, San ARER DabIodod HTeis Jo8 s asd?
(A) doin G55 0 (B) miifonld el

(CY =2 o {D) =mefEdnm

‘."'jt_)‘jd:'i/g'ifdnrcq‘?&if/"ﬂc/i-j:u‘j
Sadi @ MR © JIaBy? @ degann @)

The book “Timne Guertila™ is the autobiography of which of the following?

(A) Taslina Nasrip (B} Fidel Castro

(C} Ronald itcgan (D) Hitler

Bof amod ' (38 Boep’ end (o ode sl a7

(A) 8%am HS (B) Hafmod (C) &lemficis (D) argh

e GSETES R st TG S

Aoy bt © Y @ oA A
Which of the followinp is ot a fumection of the Planning Conunission of India?
(A) LExecution of development plan
(B} Makmp recommendations on poliey and administration
(C) Formulation of plan
(D) Appraisal of plan progress
oS00 seade® 500 g i Loems Hoib 85 ST
(A) e B Rgod) et o
(B) Do ooy Mearmpoing eoied Draden dabde
(C) gZenns dmimoZosdo
(D) pewes £i80RENloss o 2. 3L T S USRS e

:IJ,U.-J,JHJ'I”@& (B) J—PJ,;,""G!_F} {A)
e 2w§sf. (D o r” (O
Who recerved the Nayadamma Award for the year 20127
{A) Kota Harinarayana (B) Kasturi Rangan
(C) V. Rajanna (D) Radhakrishnan
2012 3 Bosasp weofimy, sod; i ©3th?
{A) 5% Swomeceadn (B) #no Sorkd
(©) 8.owg (D)

Qe tlar iy
?g’ﬁiu’hlguuztmlwb
c}.‘:/bul; (D) ko8 (C) C;)dl):‘r (B) Jlftd‘/l-“'; (A)
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83)

84)

85)

86)

Negative marking is theye, answer cavefully
Under which Anticle of the Indian Constitution is there the provision for having the
Election Comumission?
(A) Aricle 320 (B) Anicle324  (C) Anicle326 (D) Article 330

3RUE Cren,ot %y D ©QESTM DEL DopR S00 dodent Slvesertn BH0OT
(A) 3205 =0 (B) 324 Sepddn (C) 326 sepdon (L) 330 3 eggdn

YV Hid L S TS L i
1L, (D) 26 K1 © mFES @  FT A

Which of the following Supreme Court judgeinemts sedefined Centre-State relations?
(A) S.R. Bommai Case (B) Indra Sahney Case
(C) Vaman Rao Case (D) LR. Coelho Casc
Bon et D Eoos’ md‘; Gd_zﬁog - m@ﬁom&b &8 v Lotub?
(A) S.R. s%iom 8 (B) mogRasd Bro
(C) wony B (D) oo 558 §m
Nflgchl_-u('_,...'.-zfr!,{f:-"/c—‘f_-i-J"/a:-; L(d{).-);'v/gﬁd_'frbu
Advus @) Adui B @)
AITST O Ay ©
The Asiatic Society of Bengal was founded by
{A) Warrcn Hastings (B) Lord Comwallis
(C) Raja Ram Mohan Roy (D) Sir William Jones
Borme shasire)8 s & Sadme aSh?
(A) o063 Iayoly (B) = s2s8mebl
(C)} oezr mo drirScwaD (D) %5 pbano df

AT L it LUK
el A pipt (© Sy @ g A
Which ené of Ihe following is not related to Union-State relations in India?
(A) Rajamannar Committec
(B) Sarkaria Commission
(C) Indrajit Gupla Commiltee
(D) West Bengal Government Memorandum
200 ow¥® Bog g BowotRoE® Bouagio 800 07
(A) oamiant ssod
(B) Ropote somdd
(C) mogms vz S0
(D) B85 Somd D308, BoIwmodo
?.:_J;.J_Ijgééflcftufbcd_'ib.u

BRFFIY © FHez© Fof ® Fra ®
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87)

48)

89)

*

Negalive
The first rural intermet exchange of BSNL is ¢stablished in which of the foltowing
Districts of Andhra Pradesh?
(A) West Godavari (B) Krishna
(C) East Godavari (7)) Guntur
2onladad (BSNL) ding, 89 5oan wossme of of sogdletn & dad Soto
dabadon?

(A) Do &icaso (B) 8 (C) tonch Hieesso (D) roknd
Sype et S LR sTE S fuk sty LA
S Soufd s © el m du‘:fd;"‘ (A)
Who won the Deadhar Trophy in March, 20127
{(A) North zonuc (B) Eastzone (C) Southzene (D) Wesl zone
dre 2012 6F B60 G0 SIRD DeasHos?
(A) &85 sotkeo (B) #indy sotioo
(C) ofmsotec (D) g0 dodwo
SIS O s 202
wries (D) 1) S (O ._-;;).;;{1 {B) e b (A)
Maich the method of Protest against the British with its Propounder.
L5t - [ (Protest) List - II (Propounder)
a. Method of direct action 1. Gokhale
b. Non-cooperation means 2. Bhagat Singh
¢. Method of petitions and 3. Tilak
resolutions

d. Acts of courage 1o rouse the 4,  Gandhijee
man revolt hy masses. -
foul aO® ARG, oG HPROCDN 0D Digod.

2o - | (&5,550) o - 1] (BOR000E )
4 PO O I. &fpd
b, &J%ad nomdte 2. goltol
c. Dy deni Seddn 3. 608
d a3 wrwgod R o] 4.,  mobd
2 wgzhiﬂék‘?n)’frﬂﬁﬂ:é—aéﬂ e IV l.;-'/,JbL?IJL-'-LJJA
AN (GFOL i
Mo N T ST
a b [ d = 2 . b
(A;\/ 3 4 1 2 F 3 DA S <
Eg) i g ; i Juf<f a (¥ zukaten  d
(D} 3 04 2 1
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N i N 3 Vi 1
90) “lLook East” policy was formulated by which of the fotlowing Prime Ministers?
(A) 'V Narasimha Rao (1) Rajiv Gandhi
(C) LK. Gujral (D) Mammnohan Singh

“eob ey wil Bl Anfroc ol Hrrsog D ?
(A) PV St (B) o9dS cnod (C) LK. hws (D) svFanitol
WYL P LR e
For oy JFLST © St (B Fpidd (A
91)  Who is the Current Deputy Chairman of Rajya Sabha?

(AY K. Rehman Khan (B) Karia Munda
m (C) Shumsher K. Shernif (D) PBJ. Kurien
P AY R0 Gpe) D08 a7
(A) K. 6insind ae (B) Ygatn swcas
(C) ZodBa pH (D) Pl ©oahs
?gj(ij;.f/j(,‘friu:’!r‘i:.i_v':el;
[ r
iy Op.LA 1K B gL (A
92} Which of the foltowing was named as ‘Kully Japan’ by Jawaharial Nehru?
(A) Cochin (BY Madurai {C) Calicwt (D) Sivakasi
300 areled eiipled Agnn o "Eboa 28" w0 boseddo 307
(A) &0 (B) &g (C) wbus (19 ades
WL A o s U P RS
S22 ) A © dissa  (B) L)
93) Who among the following was the founder of *Sangat Sabha'?
(A) Ramakrishna Paramahamsa (B) Swami Vivckananda
(C} Devendra Nath Tagore (D) Keshab Chandrasen
22 Jon P ufiBoed DD Bbowd?
(A) ooy HORRoD (B) 2o pdersod
(C) Sdogind ovi¥8 (D) 845 sSoshs
) J{._.-J)!:;.J”Lq':rc‘"ucdibn
Lty (B) Labett Sl (A
Lt (D) KAy (©

9314 (Set-C) 25
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94)

‘%
<
i

95)

Negalj ng i 11
Match List - T with List - 11 and sclect the correct answer from the codes given
below.
lst-1 fast-11
a)  Goa's Liberation I 1975
b)  Imposition of Intemnal Emergency 21974
¢} Death of Indira Gandhi 3. 1961
d)  Pokhran Explosion - | 4. 1984
e - | & w1 ﬁfaéa%&dmaaimgdx_:pﬁo&.
e - | e - ||
4) e 03RS0 L. 1975
b) SO o}ai,ggégao@ 2. 1974
C)  TOCTE (ROL ASEO 3. 1961
d)  @iged adedo - [ 4. 1984
-FESi8 ol L S i So e O PR
=g faryd
Wi FPLP (7
Wi 32 T (Ial ot AT
1961 B | .:,F,Ju'ifr;.-'l €
2 b &« d, s . 9 P LR
%A) 3 | 4 2 ’
B) 2 4 1 3¢
(C) 3 2 4 3
Oy t 2 a4 3

Who wrote "Why I am an Atheist™?

(A} Subhash Chandra Bose

(B) Khudiram Bose 4
{C) Bhagat Singh \

(D) Madanial Dhingra

"2 o D BESGTD St SO0 ?

(A) ®pl Sag il

(B) gofionss %

(C) &nEnol

(D) shestiom pom

fpul e L i §16, 7

Vit ® Jiade W
Adigs D) Fi o

9314 (See-C) %
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96) Mafch List - 1 with List - T and select the carrect answer.

List=1
i, lyotirac Govindrao Phule
2 L.V Ramaswami Naickor
3 Shahu Maharaj
4. Ramsingh

List -1l
a.  Namndhar
b.  Sarvashodhak Samnaj
c.  Satya Shodhak
d.  Self Respect

em - || D e - | 6 24 ddians pameaeg ShxiRcd.

| amdes - ]
1. o Sem fnocond ind A oD
2. EV ooln o et b, ad-Sod admedn
3. Rednpe goanoed CH ST L]
4, oschioh d. el
e 2l Seterdflier g
Mess Lipi
Gibeat Loasalndr 3
bl‘-—l;);'u/ b ;tdhf“l-ﬂj)-ﬂj: 2
Lerp- Llignt 3
a b ¢ d.gual 4 Froos
(A) 2 03 41
(B) 1 4 3 2
(€) 1 4 3™
(D) 4 3 1 2

97) Put the following in Chronolegical order.

I.  First Round Table Confercnce

3. Bhagat Singh’s Exccution

(A) 2,1,3and 4 (B) 1,24and3
Eof w30 gredsipehindors ol

. s 000h Gned sandan w3

3. zrilnol aobs

(A) 2,13 somoo 4

(€) 123050004

u‘l.vu)ul-dr.b'b’
J};K;:de/u
440,32 (D} 4.1123 (©

9314 (Set-C) 7

. Gandlu-irwin Pact
4. Sccond Round Table Conference
(Cy 1,23and4 (D) 1.32and4

2. o - a0 adonds
4., Totss Tl dmud pandangs,

(B) 1,2.4 S0 3
(D) 1,3.2 Soam 4
_EEJ?JJLSUU;:JIT[J_'.;@”
2 J_ﬁh’x;}f&’f A
A4 J‘e’;‘c/’f 3
124 (D) 42013 (A)
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N ive marking v () answer carellv

98) The medicval city of Kol is presently ealled willy (his name

(A) Ahmadabad (3} Apoir (C) Alghur (D) De
Sohaimna el S8 oo RuEo B Dt Lensedvion?
(A) wimpmend (B) sds (C) whaud (D) &
‘."‘—_L'lrl.ré:.r‘tdflﬂznuﬂr";r"Jf",?é‘_'Ub:,g-"
G (D) o (C) A B ATZ (A
99) Which of the following country recently jomed WTO (World Trade Organisanon)?
(A) Russia (13) North Korea
(C) Somalia (D) South Sudan
8 Sor e adaw WTO (2003 anda, dog)e® dos 8o B0?
(A) sam, (B) &30 Svoain
(C)y Mznpatn (D) &8rimes
S P LWTONHE I, T2 00 B 2 f it
urd? () Qi © Lo (B S (A

100) When was the Ceniral Vigilance Commission set up by the Government of India?
ERO8 Db Sog R Rogoef) s Sontn oo ?

(A) 1964 (B) 1967 (C) 961 (D) 1971
WS S Y Bl e B s
1971 (D) [961 {C) 1967  (B) 1964 (A)
101) The reasons for fast growth of public expenditure in India in recent vears are

[, Urbanisalion 2 Interest payments

3. Subsidies 4. Defenct expenditure

(A) 1, 2and 3 only (3) 1.2and 4 only

(C) 2,3and4 only (D) 1,2, 3and4

=50 So0s 4redHod® DI, 8,0h5 eL%om BEGLNTA mmen

L diddse 2. sfspouw

3. debe 4. de Soban
(A) 1, 2 ooty 3 Snpg (B) 1 2800 4 Sl
(C) 2.3 ot 4 Sl (D) 1.2 300t 4

:-_’)J&-kc_.d,‘:'/:.;,l_vf)ldvuﬁg}?u‘f.ui.:.jb

FEudyr 2 T

=i Al 4 Sk, 3

420 D)4320 7 Q) 402400/ (B) 32007 (A)
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h) i riing i 3 i Iy
102) Peashave ______ chromosomes and dogs have ———— - chromosomes.
wonlion Bl roen sunats L ~ B B o) BB o m 4
SEE S il Eamgirs )
(A) 18,62 By 14,62
(C) 18,78 (DY 14,78
103} Match the following List - I with List - T and sefect the correctanswer.
Lisg - List-11
a. Mveghalaya 1. Meiphiu Rie
b.  Manipur 2. Lal Thanhawia
c.  Nagaland 3. Mukyl Sangma
d.  Mizoram 4. Okram lbobi singh
wmzan - | H weodees - [ 6F a8 ddows Rdngaosl B8N0l
s - | anttans - [
8 Hfimecd | peds
b. &8 2 oSoamen
c. mpmemh 3 et oo,
d ofee 4. &gd mFao ol
ol e e S
W lad
s 1 -
d !J ] d W) 2 1:'[," L}
(A) 3 2 4 | N3 3 e .
(B) 304 ) e o
(C) 23 ied i S pox A
(D) 32 T 4
104) The working of the quartz crystal in the watch is based on
(A) Edison cffect {(B) Photo eleciric effect
(C) Piezo clectric effect (D) Johnson effect
riloinsod w5 ghdion 40 frd moeiid £03won?
(A) 24ad dewsy (B) e el tansso
(C} L ool seniio (D) w5l 2ensio

P PRI SN OBy P ATV N T
e @ SASFm ©  hSHE) B A @
1055) In which of the fellowing states of India is Ghana Bird sanctuary located?
(A) Orissa {B) Kamataka (C) Rajasthan (D) West Bengal
Wnémiwm:&mdﬁngngomm?

(A) atis B) goaod {(C) ovied D) D85 Somd
o ¢ ) “ "l‘._dl;(ﬁ-J&d:lzt&JCyizL/Ju\?:ﬁ

JEd A (o Wt (O St (A
9314 (Set-C) 29 '
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egative marking js Answ
106} Match the following List - I with List - [[:
List-1
a. R.K. Hazar 1.
C. Ranga Rajan 2,
c.  Owkar Goswaini 3
d.  Agunsen Gupta 4.
5.
e [ D= - [T 6 asidanos
adiem - |
a. RK gnd i
b. C. dodomus 2.
¢ Somd s " |
d eSS i a,
3
| FP
APl F
EmrTe
{.f-’!‘uf,)'ii
il pn
P D S
a b ¢ d
(A) 5 2 1 4
(B) 305 4o i
©) 3 2%4 ™
(D) 4 3]
! 107) What is the biggest cell in the human body?
{A) Human ovum {B)
(C) Human nerve (D)
Bn33 Wdodt ©0DY S0 Ha7
(A) d»ass wodo (B)
(C) dnsas oo (D)
T VI IR TR )

Lo )

9314 (Set-C) 0

iy

List -1
Committee on public
euterprises

- MRTP Act
Industrial Licencing
Industrial sickness
Disinvestment of shares

sngen - I
SqhB G Boge vased
MRTP::SQ.rm
BOEe fboel
alagmsa;pmm

BTN, | I N

T 4
1 gl 4
2 Ll b
3 Jr e =
" t:;r\;,c‘gﬁzl .d
L1

Human nerve cell
Hwman stem cell

axisd spddno
Hnas Rdend
fe U Bixe 2 Ui
FEICT (A
U (@
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108) Match the following two lists.
Raw material Produ
1.  Limestone a. Porcelain
2 Gypsumn b.  Glass
3. Silica sand c.  Plaster of paris
4. Clay d Cement
2025 2OR Sodd oo 380004
Fwd g Sepps0
I 2SS & a.  pbs
2. 3 b. &b
3. 2= auing G c S5 Bl 0D
4, é.)g & d LA TP
%' wipl L
Hilag o':-:ll’b'
JelF S 3 PV
o » 72
1l 2 3 4 N a3
(A) a b ¢ d o g
G/ d ¢ b a
(C) a ¢ d b
(D} d a ¢ b
109) Match List - I with List - II and select the correct answer,
List-1 List-1I
(Rivers) (Trtbutaries)
a.  Knshna l Chambal
b. Brahmaputra 2. Indravan
c. Godavar 3. Tista
d. Yamuna 4. Bhima
enoen- [ 0wz - [ 5° sedh 3 Hingeml SD6%508
e - | apge - [] 03
(A5eden) (A5}
8. gep I Soxd
b siaips 2. =ops0
c. b&cso 3.
d  obend 4, dan
-i.,- PF‘.FJRé‘nI{,. bl g flar J 1 is
0=y Taw g
(1)l jar
b d VV' A 2L
a £ -.! Pl [
(A) & 3 2 Jorest 2 Ans
(B) gt 4 1 3 3 d;l'llf’ <
) 4 31 1 2 Woa b &
(D) 34 2 |

9314 (Set-C)
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L3

110) A common fluorescent tube conains

(A) Sodium vapour (B) Mercuric oxide and neon
{C) Argon at low pressure (D) Mercury vapour at low pressure
S HOLT tam o5 T2 SBA A0LDONT
(A) Hhano emgpe (B) Sodm, of !%ﬁ heainy iRl
(C) oy s S O3S (D) st btaso 8¢ Qo 0 engo
_a'-_t'ﬂg}"vﬁw;ﬁ(b..{!
Qs l/'!'du.f/ (B) u:-;[‘-.'u‘ {A)
1;:{(;.;:);{1[/ {D 1;;(&;",7 (C")
111) Pencillin is produced at
(A) Puna (B) Bengaluru (C) Pimpri (D) Alwaye
DODS e S8 SoborEon?
(A) %P3 (B) Sorerd (C) bob (D) eeaod
e b PO e 2
S J& © S @) Ly W

112) If you move towards a plane mirror at a speed of 10 cm/sec at what speed does your
umage approach you?

(A) Information inadequate (B) Scm/fsec

(C) 10cm/sec (DY 20 cmfsec

A &Y Do Sdko B 10 Jo Bn/d Hssnst 4088, b Bo2owo o ot LD
F0on?

(A) 2sripto sisosm 85 (B) sxoan/»

(C) 10Xoom/d (D) 2008n

?JHL-(/UJJJ"U'(:"-;UHE'-ZJ:T;JD;J.H:G%J;:I&J)L{é‘rnbvfﬁ
Eppgen @ FxE0 ©  FHREEs @mEv el (A

113) In which year the EXIM Bank of India established?
38 X DI BrDEHB E,08 WS HOTO ST T B

(A) 1983 (B) 1984 (C) 1982 (D) 1985
114) What was the GDP growth in First Five Year Plan?
Boxcse BOSesd, Sraredst BAb i 2087 ) .
S a4 SODPE » I &
(A) 45% (B) 3.6% (C) 42% (D} 3.9%

9314 (Set-C) R
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N ive marking i nswr fully

115) Freshly passed urine has hardly any smell bnewhen itis allowed to stand, it develops
a strong ammoniacal odowr owimg 1o

{\)
{(B)
()
%)

Conversion ef urea to anunonia via urea eycle
Cenversion of urea to ammonia by bacicria

Conversion of urie acid and urea 10 ammonia
Conversion of uric acid, urea and creatinine to ammonma

QE{,E— il M Ceompre DeDR dos, 50 onDD Dq.,cf@:ﬁ BE00S edndHaie
o Sgof. D08 wYeo

(A)
(D)
(C)
(D)

atepais Y oy abmoadn, wim bornem Bedilodidind.
en&ocin mam ahnooin, SHRSORG AndrEosHnn.
GTAES sl S00ah SBROOTR, @AE, DOBI SRGH S8R,
o8 wahaie, chrons oy SoiRad, sdn i And)Doseeon.
: A?)Jc‘._- nf‘g;g(i({c'funltrrfdéuiﬁb".ﬁlf:;;.LA:

D LUrKl e sl Fug (A)
L LUl 3L 2L (D)
L L WA Sf (©)
Db i ity D)

116} India’s Second Five Year Plan was based on

(A) Harrod - Domar Model (B) Mahalanobi's Model
{C) Joan Robinsen’s Model (D} Kaldor's Model
&063d Botis DOESS, @Y B Sanis spdomk Wiinonodalon?
{A) DE0B-G508 i (B) cadedfind Sduse
(C) =58 w250 Ssmap (D} el Snew
o df.;u/,:"’.lbjl/nb’ucfm
Sy @) il by (a)
S (D) Sge (0

9314 (Set-C) 3
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alive marking i pswer
117) Match the following List - I with List - II:
List -1 Tast - 11
a.  Devulapalh Krishna Sastry |, Kanumasice
b.  Jandhyala Papaiah Sastry 2. Khadgasrusti
c.  Chalam 3. Krshnapaksham
d  SriSnm 4. Savim
8ot onhS 2o - [0, wdes - 11 8 asdchod
e - | 2 - [
a  dgenf Ggmy 1 s
b, eoguye dsDahel I R
e e 3. faRE
d 44 4 ;
e = _{..'-L.ll.:-f)ﬁ\:f,r';z.‘{;,u
It ard [ o
a b & d donkf o d}'ﬁkﬁfdl(_‘: 1
(&) 3 ! 4 2 A0l 2 dFlmba b
® 3 4 1 2 %er's .
(©) 4 3 2 1 Sl S
(D) 4 2 3 1 gae A $pds 4
118) On which committec’s recommendation, competition Acl was ¢nacted in India?
(A) Rangarajan (B) Chaturvedi (C) Alag {I7) Raghavan
3 g508 Lt B oS ety D Sihorm Fntir?
(A) Boosmad (B) sisdy- (€) ook (D) ooposs
W NG S S
oA @) S © bz @ Pl @A)
119) Which state imigates largest percentage of land?
(A) Punjab (B) Bihar
f (C) Uttar Pradesh (D) Maharashtra
S oui w6,08 260 FRSLD 0,0 JRKxon?
(A) BowsS (B) £ (C}/éddoﬁ-d’ (D) aosmiongy
q.,J,:..ung;;.,.';,«ényb:;.«yJ
Ay @ Fagit (© ¢ (@) (A
120} The Bikaner Canal was 1aken off from the river
(A) Banas {B) Chambal (Cy Yamuna (D) Satlyj
2588 wvendd S 230 08 HILRY;007
(A) e»am (B) Sozd (C) ooaws (D) wgld
‘-'{—Jv = UV 2K
& o & (© J& B IE A

9314 (Set-C) M
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h
121) Which of the following is not matched correctly?
(4A) Gurajada Appa Rao

(3) Gurram Jashuva
(€) Buchi babu

(D) Rachakonda Viswanadha Sastry

00 A Lom BdBOEEEn DO 7

(A) Admd s

(B) thgo mivem

(C) @z

(D) ovs8900 BLGTY

122) March the following:
List -

a.  Kuntaon Himalavas

b.  Nepal Himalayas

% ¢.  Punjab Himalayas

d.  Assan Hunalayas
8o TRelD aBHEwE.
e - |
£35S Indmeaien
B2 Insnentnen
e Induooimen |
&R0 Iriimeoine 3

a0 Tw

(A)L/
(®)
(©)
(D)

9314 (Set-C)

a
4

LV =

bd N B2 2T

— lad G e T

d

- 2]

F-9

A gy

u'u) PR

12 @kl -
g

B

0=y

G s L i
s r il gf

il iphemed
\;.Jynf-dl’nl(f

Mutvala saralu

Firadousi

Asamardhuni Jeeva yatra
Alpajeewi

SR ZTRED
AP
@::;as:q._m ééa‘ﬁ-é

2D
”?’,.;.u,;x,:‘uﬂ;._,{jc-,n
il;l;Iljlfl;/ (A)
|J;‘f(1/ (B)

nds ©
gl

Last - 11
Between the [ndus and Sutle
Between the Kali and the Teesta
Between the Teesta and the
Brahmaputra
Between the sutlej and the kali

enéter - [1
ROHL 000 HETCD B
51 oo 8 &x,
ity so00m gingoge 4,

D soooin S S
-é—hil&bt.;\'.‘fu

Lawd

Jus S a
deJi b
TN -

daeel d
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123) Cventhaugh the concentration of €O, 1s the same at sea level and at high altitude,
the pholosynihetic rate is higher i a plant grown at sca level than in a plant (af the
same species) grown at high altitede. The reasan for this is

(A} lHght intensity is more at sea level

e

124)

(B) temperature is lower at high alitude

(C) atmesphuric pressure 1s higher al sea level

(D) relative humidity is higher at sea level

il G S o, A g Sogan B¢ oty Sond B def tdmwiicn dajth,
i, mocied Sob Brisn Danod st G Mok, oot pidod® 6 Aok sol
[Hadn of a8 Conisd) g doinok). H08 sxdino

(A} =eoh B Ruog fuigod® DlHSm dotcd

(B) oo Biiid® SIS BEHm Soni0d

(C) Ao Aol meemadn hddo ddyire dodual
AT GLHDOD

g sgodt Sl ags

...rltnlgd‘a.v"b‘,ﬂ!(.r‘Jﬁ"“-c_LF..fl{Jb‘:I.;LUJICJ.«.»’J'ETJIB’CO;{ 2 i

Match the following List =1 with List - IT.

35t -1

K.S. Krishna Swamy Committee

S.Padinanabhan workmg group

a
b.  Narasimban Commitee .
C
d

Chakrabarthy Comumnittee

mes - 1 0 mdpe - [ 85 asdahod

et = |
a.  KS. Sioego sood
b. mﬁgmd
¢ S. il Soph (b
d. dsmga.meﬂ
A b g ¢
(A) + S O VA |
(B) T A T
(C) 1 3 4 2
(D) R S

9314 (Set-C) .

".:_uﬁ_r',nd‘ h:_dLv iy

cl-_ul,z.;nyUJN{CL{JF (A)

(../{&Lf:fug}:,ﬂ}gu (B)
antigeLiosin (©

4:-:;(-.301.;4.!2“5’:'-;’ {3}

List-[1
1. WodangofIndan Moretary sysiem
2. Onsite supervision of Banks
3. Driority sector lending
4. Profibility of Pubtic Sector ks
e -
3. ;‘}‘a's:.'*-'ﬁbdon-t;ﬁmmﬁe:ﬁ
4 wgl ol dp 05 slmahEs
S ;:..u_z,_-‘fl..-r.-'..zmu
[yt l-_'-";J
U)ft}\?lﬂi.-ud’rfaf Jd ;j-’r_-d‘r..-'/u"-"ﬁ a
Jrf._'/'l.‘;ﬁJ._.lé-‘ E] ;Ff;,"'.; b
Ludiiirs f._fn,;v‘-‘tl.,'., T
u)}d'ftj‘.-u}‘d? Kl .Fra_uﬁ, 4
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Negative marking j§ there, answer carefylly

125) Enzymes in living systems directly

I Provide enerpy 2 Provide immunity
3. Transport oxypen 4. Catalyze biclogical reacions
How many of the above ate correct?
(A) I, 2and 3 only (B} 2and3 enly
{C} 1and 4 only {D) 3 and4 only
BSE A8 ol peorm
Lo 480 Delndion 2. RHITICE D RaiEntRrow
3 efed0 Covmediean 4. BSHH et SEBoe 0ERODL
P ot 09 RN ?
(A) 1,2 dvato 2 Srgd (B) 2 sopatn 3 degsh
(C) 1soam 4 sred (D) 3 awdotn 4 mredD
Ppe e nail sl
ki@ 2 eSapduy
J{ uﬂEL.fJFI_.* A Jypffo'!:rf 3
et nZ s
32~ (D) 302002 (A
. 43 {D} dad L4 (O)
126) Consider the following chemicals: '
l. Benzene 2. Carbon tetrachloride
3. Caleium sulphate 4. Trchloro ethyiene
Which of the above is/are used as dry cleaning chemicals?
(A) lonly (B) 2only
{C) 1.2and4only (D) 1,23and4
800 sy Hobdfowod.
1. Do 2. oS Senginh
3. shabo il 4. 765 b5
p e Anohat g dpahioeo 807 &
(A) 1amdd (B) 2 aned
(€) 1,2 50004 Srgd (D) 12350004
) R PR IT I
SV ISP 4 2 A b
HEWHJ‘U 4 -L—_;h"(?t, 3
e bt e b L Sl B S e
4,23 M) 4012072 (O Zd” (D) b (A
127) The chemical which is used as an antiseptic is ]
afactnl o s SRaDhio BO7 fe b1y p L Gl s F
(A) KMnO, (B) KBrO,
(Cy CrO, (D) KNO,
9314 (Set-C) 37
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Newativ king is th (ull
128) Which of the following take place when the subject speaks untruth while being
tested by the polygraph instument?

7,5 l.  His blood pressure goes up 2. His pulse quickens
3. His skin darkens 4.  Hcsncezes
(A) land2 (B) 3and4 (C) L2and3 (D) 2,3and4
O PO DOS0E HEFODIYG L% engio Dnogid 5 Bod Rl DD ?
1NV e80 ogbdRo DEHE0D 2 =60 maiko Dohdon
3. s80 OG0 Spadiiod 4. SBD8 B/t BRgo0
(A) 1iooain 2 (B) Javeand {C) 1, 280003 (D) 2300004
?.ng‘:ny’g:J‘ld'J:}T_Uzc.i‘f’df:J:Lé-’g..iugg
SLear Myt 2 Tl baxspWui¥yt )
JelaHer a Seend e 2
42,3 D) 31,2 (O 4913 (B) 211 (A)
129) Consider the following pairs:
State [mportant mineral Resource
1. Andhra Pradesh ] Copper
2. Chattisgarh : Bauxite
3. Gujarat . Diamondi ferous kimberlite
Which of the pairs given above is/are correct?
{A) 1,2and3 {B) !and?2only
{C) 3only (D) 2only
805 203 s80 HoEpocEn
zﬁg an%mnmmmom
1. wogeds - ol
2. 38058 : a:agd
3 thawd : o8 EL SondPas
2% B nbedt DO/ s
(A) 1200503 (B) 1 sopotn 2 s
(C) 3sngd (D) 2angd
- udrd
dbjdrﬂl S s
F Jd,{l/ﬂ R
et A 2
S by ‘ aif
_ S ar UL RE LN 0
20~ (D) 30 © o~ (B) 31241 (A)
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130) Kalpsar project for the supply of sweet water is located in
{A) Haryana (B) Rajasthan (C) Gujarat (D) Kamataka
HoDHBO HHoe b S8 Jedll 80 don?
(A) imogm {B) Pesind (C) _roamd (D) Sopes
& Onulalg ¥ oS L
£1S (D) ..-,1/ (Cy Wzl (B} e (A
131) Uttaranchal, Ustar Pradesh, Bihar, West Bengal and Sikkim have common trontiers with
(A) Bhulan (B) Nepal {(C) China (D) Myammar
" ABmodS, &0 DO, S558, 54 ook ;000 Z06F &5 B0 BDA S0 ?
(A) fens (8} ©) g (D) Soabus
_VgJL;J¢p/JfJ,IJ§df-,l‘-::uf.‘.,{;sq_)’;f}l
My (D) B (©@ Ju @ wed (A)
132) Between 2001 and 2011, the child sex-ratio (0-6 years) in India (Females per thausand
males) has 1Y
(A) decreased by 13 (B) decreased by 7 [+ g
(C) decreased by 5 (D) decreased by 9 —_—
3 4
sRE8Sdoét, 2001 sopatn 2011 o4y A (0-6 TuSHoR) Dorf DY (06 B0
e ho domy) A1
{A) 13880m (B) 7ufon (C) s8dcn (D) 98kon v
J__-d
g

04 0 iz st W LA 08U £l 10 £ 2011012000 LB 2
Js dds © EATENG) 5w

133) Minimum alternate tax 15 a tax on

(A) Film Industry (B} Capital gains

(C) Zero tax companies (D) Professionals

804 P smalh i S0p doosedon?

(A) BbDosn ) (B) smumepsop amalo

(C) s, 33 Soiben (D) awersg
T;.bﬂ;’k{;/;/gJ:Pfg‘f

Py o Fhoo e, & ood @
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134) Match the following.

List-1 List- 11
a.  Calcium cyanamide . Rocket fuel
k. Freon 2. Photography
¢ Catechal 3. Refngerant
d.  Hvdrazine 4. Fertilizer
e - | et - ||
A =pabo psgel 1. o3 andido
b Lai»s 2. amitm
¢ Smdes 3 agatol
d  reas 4. Dofet
& };?f‘_.’_'it',u
Oerd [ oy
Jdun, Wi e
: OS2 g2 b
AR, 3 U
Ie1 iy d
2 b ¢ d
(A) 4 2 3 1
(B) 4 I IR
()] 4 1T %3
(D) 4 3 2 1
135) Which of the following has a mission of “Slum free cities in India™?
{A) Indira Awas Yojana (B) Mahatma Gandhi Awas Yojana
(C) Rajiv Awas Yojana (D} Valmmki Ambedkar Awas Yojana
800 wned6t E08 "o § WSS 35 aodots" edodom don?
(A) moDoe ami ARaS (B)  aodsem, ol sl alwd
(C} ol merls G3mad (D) anllf wodd,S el dires
PRV VAV ANt § V-1 ST 9P
sy S (B G UL (A)
i/ o) B (O
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Negadive marking is there, angwer carcfully

[36) A powerlul eye iiTitant present i s|og 1s

(A) Peroxyacetyl nitrate (B) Nitric pxide
(C) Ozone (D) Sulpher dioxide
Ieciuosi B snon Efod AARcARS 0 D07

{A) DEBotalfd Hie (B) 56 naf

(C) Léi (D) Rt Ged

. *.‘.T_LJ//-"’urr'L,-f(Smogu:lﬂut_.;gf"?u:fhv.:)"
2VTd (D) o (© #UTS . @) et s

137) Consider the following statements.
. Blood pressure is measured in mm of mereury.
2. Medulla regulates blood pressure.
3. Asthe blood gets farther from the heart, the pressure like wise decreasces.
Which of the above are true? '

(A) land2 (BY All the three
(C) 2and3 (D) None of these
Bon pdaee Dordoisod

1 o haow) Susdin ing, ofi i e,
2. o oot ke DODofoD.

3. o3 ol Sio Saiors Slnadil 0 Sroom b SRKCL.

pamde® B0 { DO o

(A) Lacoio2 (B) pady (C) z@moains (D) Db
_z.:zi,;.-.a':l;:.j_ibu

P T 0 TV F 3 PRIV L FY ATV
ceFanF\ S Lyt ¥ulh 2

d.;_r'__mrrsg:c)m.;,rm;dsu) 3

PR SERPRY S5 P

S ek ) 32 (O US . (B 2001 (A
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N ive markjng is th wer carefuliy
138) Which of the following dovs not match correctly?
(A) Vishakhapamam -~ Ship building -
(B) Tulagarh - Ralway equipment
(C) Bhadravau - [ron & steet
(D) Pinjore - Machine tools
S0036° HOR 28HFIE0N TOT?
\}A) D0 - e DmEo
(B) eSenznl - phasd
(C©) Zpse aRbE0 oo G,
(D) tod¥s - afhod dedmen
i"‘.:_..t.-'t},-_" u)L«Ljf(ﬁJ:J'C'/u
X e e AU @
\
e ds e 2 @
Jl.i;'ul!!' JJIJM( (C)
;U,plé.c):,' S
139) A 100 wat bulb will consume one wnit of elecurical encrgy in
(A) 10 hours (B) one day (C) 60 hours (D) 1 hour
B 100 Dol ey i CHROS DARLB0 Dol ddolod® DLdiNen?
(A) 10doben (B) ad &% (C) socoteen (D) a8ow
Ye el Su 8 aw 0 AL 10000
250 (D) e (© el (B o @A)

140) What is the base year to mueasure inflation in India?
PcBdidodt G gl 820308 D oSO wo Josators Aludoeid?

°c_dquwJJvL/u‘k,Juwruzw,p

(A) 2003-04 (B) 2005-06 (C) 2006-07 (D) 2004-05
141) Consider the following food matcrials:
1. Cheese 2. Sugar 3. Vinegar
Out of the above three food materials, those provided by fermentation technology
(A) i and 3 (B) land?2 (©) 2and3 (D) 1.2and3
Bots i sitcomcon 16800508,
1. @iy 2. Dodoed 4. desb
2 O Hood sSSHoRdF, HEADEE0 T3 ©R0ED HOT
(A) 1oana IB) tameampz  (C) 2awam3 (D) 12:%0add
.'._z.l'//f\jbd(_,l' Cras
& 3 e 2 A

"-'u_?L,f:H"nl!:lJlJL'J’f\?uC-’_)"L!lﬂJ!;'_wt
32 W) 3002 (C) 2411 (B) Tl (A
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N v ng i ngwer
142) Which of the following groups of rivers have their source of origni in Tibet?
\ﬁ} (A) Braluapura, Ganga and Sutlej (B) Ganga, Sutlcy and Yamuna
{Cy Chenzb, Ravi and Sutlej (D) Bralunaputra, Indus and Suilej
Soo el D $3disamieo S04 dedogituneed $03 Grron?
(A) 28, dor oot Led (B) et i snanty ahsio
(C) 335 0 shooi &S D) aingns, aodw HHooto Bgd
YIL.-_.;_F;E-';II’L){.IJ.;.:/J[L,CJJGH
ot W (B Eotlozas
é:‘ulu’;ﬁhlf;h.c {D) fvpuld:fﬂvk {C)
143) That *some human diseascs arc genetically controlled' was first established by
(A} Gregor Mendel (B) William Bateson
(C) AL Gamod (D) Watson and Crick
"G BRAD 200080 TOIBNIBOR DCDoBTHETY 80 AncSRom QERDODID BT
(A) 8 Boodd (B) oband enkyS
(C) AE fx& (D) ==&yS sooaio 85
olir‘-(./#.;ﬁ-'-r""f-—rb;l;fdl/r_- O’jlrﬁ:(u{;kj&ulj:“
Ll @ b SEel © oF ® JEe W)
144) Match the following.
-)K ' List - List-11
a.  Sodium carbonate l.  Photography
b.  Sodium bicarbonate 2. Washing
¢.  Sodinm peroxide 3. Baking
d.  Sodium thiosulphate 4.  Sourcc of oxygen
Bob ek s Sabos.
oo - | urZee -
a  ABabo wPes v L sy
b.  ABado Peerdes 3 2. ook
c. dbabeo b c_G 3. &acK
d. As8abe g ‘ 4.  sdadfmoo
' e N
) JE lard
oS WREP /S
B 2 ._-.._',{,ﬁj”‘.’jf b
(/ a b ¢ d h 3 }:’-qu_rﬁ'i.r' &
(A) 2 3 a4 e g
(B) 2 3 - 2T 4 N T
{C) i o2 4
({5)) 3 2 1 4

9314 (Se1-C) 43



www.sakshieducation.com

143) Consider the following pairs:

Ramvpawer project River

I Kishau : Alaknanda

2. Koteshwar : Bhagirathi

3. Nangal : Satly)

Wluch of the pairs given above is/are correctly matched?

(A) 1ouly (3) 1and 3 only
{Cy Z2and3 only (DY 1, 2and3
300 adorh faliicwos.

ol (05,38 i G
Losmy : So—

2. siggl : gian

3 Bodd : ezl

£ 2ddi asedt Hom asadnésn Dabo?

(A) 1 angd

(B) 1 sosato 3 dmegab
(C) 200 3mnpdd

D) 1, 2a0003 i
(D) REFINIILN
L7 el
=" —_—
1€ ! # '
Jifu AL
& fs

E'Ugy/;:zifwu;b,;

32 O 3onds (© Il (B)

a2 (A

146) Which of the following hydro-clectric stations is situated in Uttar Pradesh?

(A) Mayurakshi (B) Rihand (C) Kangsabati (D}
9§00 andlel D adit A dogo 480 B¢ Retrgadon?
(A) Dahnod (B} nanch (C) dodma {12}

Hirakud

il

?L(’FU’:Q‘C’,I;;IJ-‘/!J}{]J}:V:.LDfd:bt’:é/")
Vg O Suf © Az (D) 2l W)
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Negative marking is. ¢ fuil

147} What is the source of clectric energy in an antificial satellite?

-F( (A) 2 mini nuclear reactor (B} adynamo
{C) solarcells (D) athermopile
oo driEF DUgi3S dusen LT
(A) D0 Enfot’ oasmgd (B) gsan
SO eenbog (D) e%ps
Tq-‘:':ib’tjtl?ﬁzoc'f?dr‘“
Furio o < © AL B A D

148) Which combination of the following tribes is conbined to a single state of Nonh
East India?
(A) Khasi-Nagas {B) (Garo-Khasi {C] Naga-Mizo (D) Khasi-Mizo
800 o3 D Bt goans o9 RS dana, AR08 HOMBIOD G067

(A) o0 -am {B) m&% - gud (C) mm-20F (D) 06 -2usd
tp AP Pl tiwn e rad AUt L it
12 (D) el (O ool JEogL (A

149) Consider the following statements about buman digestive system.
1. The smnall intestine is about 7.0 melers long
2. The large intestine is wider and shorter than small intestine
3. Large intestine is about 1.5 meters in length.

Which of the above ar¢ true? N
{A) tand3 (B) 2and3

(C) WNone of the above (D) All of the above

BRS oy IR 020000, 800 Do Botidosod.

1L O oy 7 Daky S dotnod
2 Db ddeym 608 DS H08 B deh dosvon.
3. DIDH TR 1.5 DAk 2ed Gokood.

Pt D g0 b/
(A) 1doafn3 (B) zaoafna (C) pf=ay (0) pasfy
_éai{atbyc.(lﬁf}du_r
cednpdudTin
e dndU e L TR b r Tgs 2
—edn ks ST s
ceme U NG
e @ LI Lo © 2 @ I (Al
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N j g is nsw I}
150) Who prepares the topographical maps of India?
(A} Geological Survey of India {B) Survey of India
(C) Defence Ministry (D) Geographical Survey of India
SRUBAEY RS DARHRD ¥ AotarHddue 7
(A) Baireesd 0, 6 aoloi (B}-/a‘ﬁ.., of nclate
(€) a3 b (D) Bdspbesis, b sodatm

Wl o 35 301 Rvge
STer AT o) sV © UTar, m) WadTes, MM A

151) The state which started the First State Finance Corporation in India

(A} Andhra Pradesh {B) ' Tamiinadu
(C) Gujarat (D) Punjab
MM&JMMSMUMWOWMMGF
(A) sogdy (B) oot (C) Honces (D) 0w
?l:"b!;é-”'.-w/iééwff'c#-f{fgudeé'"uf:c)t‘ﬂﬁ‘-
b (D) a‘/ (8] ke () u"-’;,'u/jl' (A)

152) The two isotopes of Uranivm 2*UJ and 2*U have an/a
"E (A) cqual number of neutrons

(B) equal number of protons

(C) different nomber of electrons

(D) equal number of neutrons and protans

GRESaDHO Ao, Fods DA U soeatn U _ 5B doerow.
(A) Ramd doms® Snandion
\-443) HERD HoREF Diing
(8] ﬁémao%d‘aegsw
(D) 28n3 Dom 4 Smanden socho ey
:;u:f238uul 235\”1""—”2.’.(:'11.3
J.H’Jlﬁ'-’dJPJUI;'J{ (B} JHJIA;L,FJIJL'JUIE {A)

d’nd;b—:uﬁ(fuh{mw}z (D) Sreatad S S 290 (€

9314 (Set-C) 46



www.sakshieducation.com

153) Which onc of the following is not correctly matched?

{A) Agriculture - Green Revolution
(B) TRYSEM - Self Employment
(C) MGNREGS - Wage Fmployment
(D) IRDP - Infrastructure Development
800 el Dore LEDSSoE00 DO T
(A) Z@Fpobsn - ot PSS
{B) TRYSEM - 000 45588
(C) MGNREGS - s 66558
(D) IRDP - msm:maabg
Yewrn g LGl LSt
- R— =i (A)
Knnp TRYSEM (B)
mfs2) ...  MGNREGS (C)
J;d,[_,& IRDP (D)

154) Hard water docs not produce lather with Soap because
;F {A) Itis highly coloured
(B) It contains carbonates of calcium and magnesium
(C) Tt contamns sodium chloride 09 C
(D) It contains suspended impurities
Bom meahy Hopht Sl au S Sl oo
{A) 0 %5 Borh 588 Sokwod
AB) &0 =pabo ook Wit 0 Olud) ;&P deSess: SBH dotnod
(C) &0 FEaho &80 27T\ o)
(D) 0 v &g Sabromad SDA 604000

o E0 S et Qs
A AR E L 0 F 2 By LG, ()
gl e e i, ©

155) Out of the following which are contributes the minimum amount to the Govemment's
lax revenue?
{A) Wealth tax (B) Customstax (C) Incometax (D) Service tax
$00 il 2408, DY eLrawDS K05 Aodo H SR’ Skuo0?
(A) Dot 058y (B) ooy (C) saravdiy (D) Dem vy
?q_tﬂd‘bc.égfdr"’f’; -..,./f-‘/};ufd_'jbn
dr"r’y (B) ' dr‘f{._-)n (A)
Jr’szli (D) Jr 3T (©
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Negali bing is 11 ful

156) Carbon monexide is poisonous because it:
‘.g__ {A) dricsup blood
(D} reduces the organic matter of tissues
(C) combines with hacmoglobin and causes deficiency of oxygen in blood
(D) combines with the oxygen present i blood to form carbon dioxide.

(A) o=y dexigon
(B) momamégﬁg@oo
JO) tmnitases 500 ogods efuso sixsen/
(D) dmaguﬁa&swdag&@egaamm&nwffaﬂﬁ ST o
.- ST
e /TS dtl ¥ @
e ttd S Tzr Lus S PVl Err ©

.;..rhgmduc.:;r/‘).—_ L-;F’Tmr L D)
157) Who won the Best Director Award in the recently anouneed Nandi Awards - 2011?

(A) Bapu (B) Shankar
{C) Vijayendra Prasad (D) Neclakantha
aelsie Je0ns S0 el - mxtd'ééﬁ:msmdgrﬂné )J
(A) > (B} '5055
(C) ondhog p»b (D) degos
: el apdsong L gy o
G¥L (D) +&x (C) £ (1)) gt
158) Which of the following slatc oes nol have a railway line?
(A) Tripura (B) Meghalaya
(C) Arunachal Pradesh D) Nene of these
400 sma¥e? pEAT S @50 307
(A) oo (8) 7 damoos
(C) m.:sdgﬁ-!’ (D) Bbmo
) ?,LIJ:?L';U(_&JL;:—’E/[,/JJ_JGH '
Fdlato ® Hgbitn © AE B i (A)

159) Who was appoinied as the Chairman of Advisory Planning Board in 19467
(A) BR Ambedkar (B) UKRV.Rao (C) K.C.Neogy (D) M.N.Roy

1946 3 DoBBLIOE xRy Heds LG D80 SEHES Soatn Srath?

(A) BR ecsiss B) UKRV.owy (C) K.C.ocdish (D) MN. mod
) ( TLU/JELJM’JL&UEJUJIU: 1946, L
Luwpf @ Se6-L © wIHLE @ Sl oo
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N i ing is ther WEYy ¢ iy,
169) Which of the following siate receives highest average annual rainfall?
{A) Woest Bengal (B) Gujarat (C) Tamilnadu (Ix) Kamataka
Soe aeelst 5 TGO o5 s b ] el £BRG0D 7

(A) Ba% Scrrd (B) dmnd (C) sovdmd (D) dnus
Se S bz ¥ ki e s Fih it
S Dy Bt (© =i @ JEUH W
161) The First Woman Finance Minister of India is
(A} Upinderjit kaur (B) Vijaya Lakshmi Pandit
(C) Indira Gandhi (D) Sucheta Kripalani
LSBS4) BlEncie S sgda S08 wSh T
(A) soSgms 56 (B) Diacrid ol
() 2000 mo (D) Aodes gned

.'._,:g.,-.-f..gu_f,';u;?l;d‘v’gf._-.uv,k
Cheflzr (D) S V8 (O ..-..Q-J“"""i-}_» By =g ()

162) Who is the Current Human Resource Development Minister of India?
(A) JaipalReddy (B) PallamRaju  (C) Kapil Sibal (D) Purandeswari
QRUBTES D8 SRS B T S0 SBDT

(A) glandod (B) dgomeer (C) =flend (D) ey
T._,;.‘.nyb:JUJL:); JMJJ‘.')‘J_’.\;.'L" =
Gikiy (D) JmX © rdy @ gtz A
163) Which river flows between the Satpuras and the Vindhyas?
(A} Warmada (B} Gandak {C) Tapt: (D) Godavari
R 0050 Logle g, Stnod S0 5O T
(A) ®Sgd (B) toas (C) 658 (D) oo
Te o FE i & i f sl
datl ar @ Sy 12l (A)
164) Rana Fratap Sagar dam of Rajasthan is built on which of the following rivers?
{(A) Mahi (B) Sabarman {C) Luni (D} Chanbal
maﬁ;wn oo 2enl Al 835 D Sop Shadon?
(A) atm (B) »z=go (C) o (N} Zond
Whaeb s e ibaf 1A Lk st i,
J* (D) ¢/ © e (my B (A)
165) The largest cottage industry in [ndia is
(A) Sericulture (B} Scap Industry
{C) Handloom (D) Panmasala
§RO80Y B0 45 ok
(A) diyvoED (D) mopw sogs
(C) 336 uo30 _ (D) 28 o
‘-".LU"/:-—"‘)‘./U‘/.G-%JCJPH"-
Jegl (D) S (O thefe (B)  Wilh. (A)
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166) The oldest oil field in India 1s

-K {A) Bombay High, Maharashira (B)  Digboi, Assam
{C) Nawagam, Gujarat (5] Anleshwar, Gujarat
23884 oddS want Bgo 507 ‘_/
(A) wsod gr, oy (B) D00, ERB0
(C) &ermd, fhrosd (D)  eddaf oo
S Enul 8 KTE S
1 dh ® A cadiEt )
1A (D) Al ©
167) The averape anmual growth of agricnlture during the Eleventh Five Year Plan period
was

namﬁéqngzmsmw&é&ﬁmma:mMMﬁamﬁm%&? )
P dGLBS Rn g8 il Lo LN

{A) 3.3% (B) 4% (©) 2.5% (D) 4.5%
168) According to WHO maximum penmissible level of Fluoride w drinking water 15
(A) 2mg/l (BY 5Smgi
(C) lmp/ (D) 1.5mpl
WHO 200 mebbeld® dodaetii 210l o Do8r00 ool ?
{(A) 2nop/id (B) 5a0=®
(C) 1w 0)§D) b5 &Jguf'b.
tepdrd S Lb L 2 oF L wHO
Hienlds @ PISVATINTS
A Jds o HAielh ©
169) The slight aeidity of fresh milk is due to
(A) CO,only {B) H,CO, only
(C) Lactic bacteria only (D) All the abowve
wen 2ved) £20300 6.0 $04LrDE Ho 5ino
{A) CO,srsdh (B} H,CO,snadh
(C) &8 enBootn sngdh (D) 259
?IL _?;Jc;:-.l;.:'d:‘“ d"unit
H,00;5~ (B) CCOp (A
(io (D) LAE B2
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170) The Planning Commission of India is
(A) astatutory body
(B) anadvisory body
(€} acenstitutional body
(D) an independent and autonotnous Ledy
AN TrPns Hoxno o
(A) oo sog
(B) Rewmpd soy
(8 PBOeDE B
(D) Rytios; Soatn pato HHDg e Ko

T S O (T T
2403 (B) 3IE (A
s 5 7 gl 2ip ;T (D) ulJld:’T (C)

171) Tochu, Gilgit and Hunza are tributaries of
(A) Ganga
(B) Bralunapuira
(C) Indus
(D) Yamuna
B0, (D8 Hroc ecemas B0 dIn, 0sEre 7
(A) doss
(B) z2mips
() =0d%
(D) obaing
UL LS 1ol g )
(D) Va4 (Q) e (B) & (@)
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aval H i.

172) Match the following lists.

At
a.  The water

{Prevention and Control of Pollution }

Act
b.  The Air

(Prevention and Control of Pollution)

Act
¢ The Environmental (Protection) Act
d.  The Biological Diversity Act
300 e BtAGHOS.

ammmgnsm

a 5

Fo*e 6B dronyS) cing

b. mm»a(m,smoom
50656&,: ""Iq;u:» ) cingy

< 0 mSR y&aﬁ&)oﬁﬁg

d. 2 azdiredd goed ot

Ji

2002

1986

1974

1981
a b g d
(A) 1 4™z
{(B) 3 9 2 |
(€) Ima I &
(D) 2 W3 |

Year
[. 2002
2. 1986
3. 1974
4. 1981
Aoz no
. =303
2, 1886
3. 187a
4.  19m
_.i_hiﬁf.J_iaz:
Y
A J'J}/J{JJJ'TJJISA';(G£ a
2 _‘rgld;,}"’{Jl.!'Tzﬂﬁﬁ!f b
3 _'r..(lE’:JI_.J:’L <
4 <AL FAdeL  d

173) Black box used in aircrafts was invented by

(A} David Warren
{C) Thomas Adams

(B) Mocre
(D) WNarumi Taniguchi

DR SRS apl R B B0 ERBOOCoD ?

(A) Zak =08
(C) ol oy

G458 © Siov o
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174) Welfare Geography emphasizes the analysis of
(A) Rcgional balanced development
(B) Public - private partnership in development
(C) Urban - industrial development
(D) Aspects of quality of life
0D g% oo GO FeD doedion?
(A) oo paiog, LLe
(B) esind® 8 - Bondn spiingi0
(C) Digm epgans @
(D) doso ding, e cpl) DS RN
S AS g 235 ® drenrdis )
KL S25 D) &Fué ©
175) Rajiv Gandhi Grameen Vidutikaran Yojana (RGGVY) was launched in the year?
‘ol mob) prama Sabdise cdinad” onEl Siptodolon?
PJJ{,,/dv;ﬂmmmwu/d;um/gh $ols

(A) 2005 (B) 2004 (C) 2006 (D) 2007
176) Which polymer is generally used incary bags?
raﬁf (A) Polyester {B) Polycthylcne
(C) Bakelite (D) Alkyl resin
=8 er Holf Peponors il Bl Hn? \-/
(A) >babs (B)” npopbs
(C) #8gs (D) cogond
Tr.uf,fl.um_.ndb-'r;;_ﬂd;tf
vkl D) wak (© @ Ao
177) Raindrops are sphencal due to
(A) Viscosity of water (B) Surface tension
(C) Continunug evaporation {D) Adr faction
S Lot FHpREod dodenid rfio S0
(A) bemos, pas\/ (B) sodws
(CY Ddosowcd anlying (D) =0 g

,,,JL.mPo:LMJ ¢
S o A © St viscosiy S B (

178) The Sensex is a market capitalisation weighted index of ~—————--— component stocks.
DR B — - ———— At ERIS DS AV, GRS AR
Yt B3z B2 NS L2 000
(A) 30 (B) 40 (C) 25 (D) 20
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179) A stecl ball floats on mercury because
{A) mercury does not allow any mnctallic ball 1o sink in it.
(B) mercury is also a metal in the liquid form.
(C) the density of mercury is higher than that of steel,
{D) a steel ball can be made to float on any liquid by suitable adjuztinent.
So0 008 BESEXRP Bowadd o oo
(A) © &¥ngy b HPCODGD B3ES S!S Dy,
(B) s dnme Gadsuo 6 E5imab.
ﬁ: (C) etseoain B, ot heo oo oS v
(D) R0 @008 oo fen 2080 D E35R03S @0 Bim Sai i,
f..i'.!;_,rf'...fq,ﬁu‘;l:(b’)ﬂ;’..{f
(SUN- P 00 (1 TSN
- _'fInL,(LPnl...{ld(uk (8)
=i LJJJU}GUI&O’L}’U& (]
et 2B G r Funir (D)
180y Which of the following is the decpest #ea port in India?
{A) Jawaharlal Nehru Port, Navi Mumbar  (B) Gangavarain Port
{C) Tuhcorin Port (D) Dharma Port

4 800 TG w808 ST roadely dong Suds So7
(A) msdndend Sgre Lo, 0 Svonon (B} sonaso L350
(C) b»asios 4600 (D} oz, &aBsy
T‘LOJLU':.&G[»,/JUP:P.U':JJ'GH
of/.ﬂ':ruﬁ, {B) @jd;-lb’u&)jdl.lﬁli.’ (A)
Kol (D) Wiy £33 (©

181) Distances of air amil sca travel are measured in units of nautcal imile. One nautical
mile equals.
Deatn S0 ToRENG HRm CR0D TS Bof 6 Brenkth. nl s 25 80d damde ?
{A) 1582 km (B) 1.258km
W) 1852 kmv” (D} 1.528 km

-?G?JJ!‘;%U{’K‘J&UJF[&GL;”d;ﬁ'uflﬂ
T.a.r.rfdﬂ/;;.d/ﬁ"__ff

XE1258 B XK1 (A
KFE158 (D) xAes2 ©
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182) Who is the Chairman of 14* Finance Commussion?
(A) WVijay kelkar (B) Rangarajan
(C) Y.V Reddy (D) None of these
14 & 325 R0F0 TS S0
(A) oHz2053es Nt (B} dotihad
¢
(€ YV.aq of \ (D) wadnea:
ol ag LM Ly
I R @ Glemir-t © st @ Ko w
183) Which of the following rivers docs not originate frow the Western Ghats?
*/ " (A) Cauvery (B) Godavari (C) Krishna (D) Mahanadi
Lot oS D 156 DAL Bmdiod siINcdh? w
{(A) =3 (B} &Hcwise (C) g (D)“shanio
W e ezl fd it
die (D) S dul:! {B) SPSLANON

184) Gun-powder is a mixture of:
{A) nilrates of potassium and sodium
(B) sulphates of polassinn and migle sium
(C) potassium sulphate and porassinm mitrate
(DY charceal, sulpher and potassium nitrate
155 Dol 5 o, Bo-intin?
{(A) Punhobo deoohs ol paitoa
(B) Soantoso et fufpton il
(C)y~ Boantiabo néuimgrn menbonio BES

(D) @5, ed ooty frinliobo 3G S Lt
._'.i'll"‘a”[\".‘pnlf."lc (B) u‘c/"'tb’(-'irnlffec (A).

N1 YINY PP ) Lt e 2y (©
185) If the father has blood group O and the mother has blood group AB, what are the
possible biaad yronps of Children?

sl B dngy ‘0’ Saoom 6 dlod, 6o (ngn AB o8, oeo8 i Lgesh 8 oo

[y 7] 9iSdo 4ob?
i‘b’nUf.;.:/.-ﬁb’u}L.5?.‘—_Anf:/i’ui.f.ul.ul.f_o.,;fb‘c)}[.)n;l

(A) O,AB,A B) A0

(C) B,AB D) A B
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186) Identify the correct sequence of the population of states (2011 provisional) in
descending order.
(A) Uttar Pradcsh, Maharashira, Bihar, West Bengal
{B) Uttar Pradesh, Maharashira, West Bengal, Bihar
(C) Uutar Pradesl, West Benpal, Maba ashica, Bihar
(D) Uttar Pradesh, Bibar, Maharashira, West Bengal
2011 wrenD BrRaR aépngOmagowmvaJWmmga:w i B35 SO B0
thootsoh.
{A) 650 283, a0, a8, D dornd
(B) &80 034, sisrnosn, Ha Sormd, Sisd
(C) 685288, DA Bornd, soiscy, S8
(D) &80 533, 538, Doasoeg, HAD Jorrd v
-g'w;tﬁé‘uc,uidno”,m_.;;c. W ST ertoc? LS80 20
UGGH e 1 Py «ogdt (A
;knd&d}' c!'/‘:lllr‘q;d),‘;l ()
et Pty JEgFaFaygn (©
JEYFa St Xogsi D)
187) The Small Industries Development Bank of India (SIDBI) was set up in the year
.6 20l Asehaot o ob eh Badat (STDBI) & vostcod’ abosnlon?
T2 JU U BYSIDBIL 21T L e g3f 2 a1
(A) 1960 (By. 1970 (C) 1990 (D) 1980
188) Which of the following committees was constituied lo improve the consumer service
in banks in India?
{A) Decpak Mohanty (B) S5.C. Gupta (C)Goipona (D) Rakesh Mohan
LRSS 8065 1m 07 DA Do DR 5500 55,00 ARO0SENE Dosinws
Saoed @ Bon amled® D07
(A) Bl Joasc® (B) SC. ] {C) flchdoain (D) wdh dnind
i OF S OIS S 2 o s B b1 i1
frdds @ W o ekl @ drl @

189} Point ¢ut the discase which is not spread directly from onc human casc to another

(A) Measles (B) Tetanus

{C) Diphthenia (D) Puhnonary wberculosis

B0y ool B o 008 58 208 Fobg 5,48 D Horm HoSReS ?

{A) sy (B) giboego

(€) sodosay _iuulﬁ.:_UJIUJEJEELJ‘F;;)}@/“LTL?,{:
3 o vesLd o S (A
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Nepative marking js there, answer carglully

199) Which of the following is a geostationary satellite?

{A} Landsat {(B) IRS (C} Insm (D SPOT
;!-om:nd{:ﬁean:n;_;méaag@o&a?
(A) enolidees (B) IRS {€) alens (i SPOT

Yo Ul g 28 LUt

&Ll (D oy LTST (B Lo ol
191) The EqualPayAct(ca)mcimo force m(l?e year ATy = EOlR)

R 53 Sho H Hostsod’ e $0007
K ?L:@ufﬂ;_‘/g;‘iﬁuup!/

(A) 1963 (B) 1964 €y 1965 (D) 1966
192) Which of the following commodity is not having a cemmeadity board in India?
{A) Coffee (B) Tia (C} Rubber (D) Wheat
ERSB0H06R 58 00 ol SR 98 80 sr g 0
(A) =b (B) & (C) wah (D) &g
e G S AIYE LS s Lo
vrl © 4 (C) £y ® 3¢ ()
193) Which protein is essential for blood elatinz?
(A) Prothrombin (B) Heparin {C) Fibrinogen (D) Hemolysis
050 (amod Hopdore eandatans Ml Sa7
K (A) zroas” (B) iagnef . (©) pedas (D) m;@s
Sebnen 8o sl fL L0 it ys
v D dEs © S @ Sy

194) The correct sequence of stals in terms of populatiorl density (2011 provisional
census) in descending rrder is
(A) Kerala, West Bengal, Bihar, Uttar Pradesh
(B) Bihar, Kerala, Uttar Pradesh, West Bengal
(C) Kerala, Biltar, West Bengal, Uttar Pradesh
(D) Bihar, West Bengal, Kerala, Uttar Pradesh
2011 e B s B 9200, o adPogEe eabiirm ot B T0ds HES
BERIN froseh '
(A) Sou. @250 Boced, 558, S48 pdL
(B) %6, isq, bt 535 5850 Foed
() Boy, 8258, 245 Bornd, 606 25§
(DY 38, pas Bornd, B, &80 508
-&:“?}JUPL;;.BUC:lp_’J.rrJ”fu';lTJ’%:J:WLJA’(J/IOII
Fag B JED A0S Ay
eI R LS
Foginde g S o
Faginu L e e @y
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195) Usually animal cells are preserved at what temperaturc?
2OBMIOR REIT00e O S ] Beogiaed?

T-.:..'l':-‘afla’.i:n!-'.x_uL.,l_.nf"_;‘;zfrh

(A} 0°C

(B) -196°C
(C) -10°C
(D} -196°F

196) Excessive ealing is termed as
(A) Polyphagia
(B) Polydipsia
(C) Polyusia
(D) None of these
OB B3 e BRI 7
(A) dbvdodn
(B) =dilLota

(C) datmbotn
D) Sbech

g EVT L S kic

) Ledy © wdy ®  Viedy o)
197) What is the pH valiez of soft drinks?

(A) 521056 (B) 3.4103.6

(€) 2w04 (D) 551068

G od pH Dens wots?

(A) 52achs56 (B) 340836

(C) 2&a (D) 5.5%03 6.8

te Vg pHE £

36614 (B SEES2 (A)
68F55 (D) a2 (C)
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Negative marking is there, answer carefully

198) Match the following lists
Diseascs Type of diseasc

'}6’ a.  Hacmophilia 1. Deficiency discase
b.  Diabetes 2. Genetic discasc
c.  Rickets 3. Tarmonal disorder
d.  Ringworm 4. Fungal infection
200 o ascahod
aRen an ) BESw
a.  IaErpdam L. SGss5e8an6
b.  sotpidaesn A 2. afRomos sy
¢ o8 1 3. 6T oS
d. =5 u 4.7 3905 eotwand
“EbinlJits
SIS g
Sl Wy
: 3 bz 2 JH b
ﬂ = E = . 3 ]
(A) 203 4 1 =AU s S
Eg; v’ 2 3 1 4 U’GU’:" 4 bk, 4
3 2 1 4 :
(D) 32 4
199) Which of the following is located in Rupnarainpur of West Bengal?
(A) Bharat Aluminium Factory (B) Hindustan Copper Plant
(C) Indian Telephone Industry (D) Hindustan Cablc Factory
DA Do KD TgRa0S HRESE 51 Bod aredes HB) Sesenion?
(A) 2n88 vor RO B0, R0 (B) 2rotoded 5206 &roes
(C) erts 59858 E00,m0a (D) 2rotHieS Sand Sos,mets0

?efﬁ'aﬁ"@fu:J..i(':/uuf-‘{cf'-fh;’iédg‘:dfy
d}gdf-(u'?wf D) ¢ pryiterz (© Lk KUk (B) d)é'r'f,»'l._-,,u_ (A)
200) As per 2011 census, an urban scttlement to be classified as a city in the Indian
census should have a minimum population of

(A). Tlakh (B) 3 lakhs (C) 5 lakhs (D) 10 lakhs
2011 Bamgn 85,0 Hsetio, 258 Dies Poomeg) SHEOMR SHED0wRO0E ED:D BaPR 0B SoED?
(AY leg (B) 3egw (C) 5eogm (D) 10 eges

_é“,.g(}nu';(d:l,fﬁlff_.ﬁz__ulfdef;.?ﬁd;kﬁpfzml
£U10 (D) 595 (C) 513 (®B) FU1 (A

9314 (Set-C) 59



